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UGC NET PAPER 2 NOVEMBER 20, 2021 SHIFT 2 CRIMINOLOGY QUESTION PAPER

Topic:- 68Crim_A

1) Match List | with List Il

List I

lList 11

A. Willingness to inform the police

p.NCRB

B. Unrecorded Crime

|II. Recording Rate

C. Police manipulating the crime Statistics

. Dark figure

0. Crime Statistics in India

|IV. Reporting Rate

Choose the correct answer from the options give

(HA-IV,B-1ILC-N,D-1 (2)A-1,B-1l,C-

n below:

N, D- IV

BYA-IV,B-1Il,C-M,D-1 (4)A-1Il,B-IV,C-I1,D-1l

T IR -1 @ gAfed Hifee

el -1

Y

A9 B Agid R H sTer

B. Gof oTgT 7 91T 39T

C.3TT & 3N A ToRlisll e aren Ifod |11 SiF R

D. 9 IRd H F9UYT & Hidhs

oA for v fwedt 7 @ W e gfav

(1) A-IV.B-IIL.C-IL.D-1I
(Z2) A-LB-ILC-IILD-1V
(3) A-IV.B-II.C-III.D -1
(4) A-NILB-IV.C-L.D-1II

[Question ID = 3355][Question Description = Q01_Criminology_ SHAAN_Z0NOV21_51_5Shift1]

1.1

[Option ID = 12883]
2. 2

[Option ID = 12884)]
3.3

[Option ID = 12885]
4, 4

[Option ID = 12886]

2) Match List | with List lI

List |

List |l

A, Facebook, Instagram, WhatsApp

l. Print Media

. Analysis of the make up of a media

Il. Electronic Media

lll. Social Media

B
C. TV, Private Channels, Satellite Channels
D

. News Papers, Journals

IV. Contents Analysis
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Choose the correct answer from the options given below: Your Personal Exams Guide

(1) A-IV,B-IIl,C-U,D-1
(2) A-LLB-I,C-IN,D-IV
(3) A-IILB-IV,C-1l,D-1
(4) A-IV,B-IILC-1,D-1

Tl -IF gl -1 O gAfed fifee :

T 1 qdr -11

A. BHED, STECTAH, G L= Aifzar

B. #if3ar &1 ¥avq fazeler IL.gelgliae Fisar
C. eenfaset, foell Joter, Aeense ool IIL. gz Aifsan

D. §AMER 9, 9f3FT¢ IV. 3ecasd fageivor
A fQu v fashedi & & G 3cal gl :

(1) A-IVB-IMI.,C-II.D -1
(2) A-LB-II.C-III.D - IV
(3) A-NIII.B-IV.C-II,D -1
{4) A-IV.B-IILC-LD-11
[Question ID = 3356][Question Description = Q02_Criminology_SHAAN_20NOV21_S1_Shift1]

1. 1

[Option ID = 12887]
2. 2

[Option ID = 12888]
3.3

[Option ID = 12889]
4, 4

[Option ID = 12890]

3) Match List | with List Il

List | |List T

A. Association |I. Karl Pearson’s Correlation

B. Standard Deviation . Sequential Equation Modelling (SEM)
C. Coefficient (I, Chi-Square

D. Causal Relationship |IV. Univariate Analysis

Choose the correct answer from the options given below:
(1) A-IV,B-IIl,C-1I,D-1
(2) A-LB-I,C-1l,D-1IV
(3) A-IV,B-lIIl,C-1,D-N
(4) A-IILB-IV,C-L,D-I

Tl IR -1 § gaferd fifsie

gt -1 qdr -II

™ LY

A. AT L Frer fOadst e
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[Question ID = 3357][Question Description = Q03_Criminology_SHAAN_2Z0NOV21_51_5hift1]

B.HAF faeere I1. 3TIh{AT THFOT FfAEToT
C.IVTi II1d FRw
D. AfATas TFawer IV. tFaitad farersor

A fgu e fawedt & & G§ 3 ghav :

(1) A-IV.B-TII,C-II.D-1
(2) A-LB-II,C-III,D - IV
(3) A-IV.B-IILC-LD-II

(4) A-NLB-IV.C-LD-II

1

[Option ID = 12891]
2

[Option ID = 12892]

g

[Option ID = 12893]
4

[Option ID = 12894)]

4) Match List | with List I

List |

IList 11

A, Left and Right end peoints of a class Interval

. Continuous Variable

B. Subjects who do not receive Treatment

|II. Distance Variable

C. Exact Age, Exact Height temperature

|III. Class Boundary

D. Aadhar Number, Number of People in fami[yilv. Control group

Choose the correct answer from the options given below:

(1) A-IV,B-lll,C-NIl,D-1

(2) A-IV,B-1,C-1Il,D-1
(3) A-lIkLB-IV,C-1,D-1I

4y A-1,B-IV,C-1I,D -1l

g TR I @ e P

qdr -1 dr -1

AT iaUd & 9 3R IR 8 L gad 9iad
B.f5e1 suferadl 1 399R @7l fAear § L0 9Rad
C. T* AY, TAF Fdls AITsha IIL &9
D3R HE1, 9RAR & GeEdt & dEr IV. [T gHg

A} fqu 1w fasedl # 4 G 3cal gfav :

(1) A-IV.B-TULC-II.D-1I
(2) A-IV.B-LC-III.D-1II
(3) A-IIILB-IV.C-LD-II

£ A% A_TR._TVO_TT Ml TIT

prepp
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[Question ID = 3358][Question Description = Q04_Criminology_SHAAN_2Z0NOV21_51_5hift1]

1.1

[Option ID = 12895]

2. 2

[Option ID = 128%6]

3 3

[Option ID = 12897]

4. 4

[Option ID = 12898)]

5) Match List | with List lI

List |

List Il

A. Graphically representing groups of
Numerical

. Boxplot data through the Quartiles

B. Plot Summarizing how data is distributed

Il. Pie Chart

C. XY Graph

Ill. Histogram

D. Representing data in a Circular graph

IV. Line Graph

Choose the correct answer from the options given below:

(1) A-LB-Il,C-U,D-IV

(2) A-LB-IN,C-IV,D-Il

(3) A-IILB-IV,C-1,D-1

(4) A-NILB-I,C-N,D-1IV
gl IR g -1 @ gafad e

e 1 11
A Fifgas aagl 1 fofaa Heaor I Tq9% & AGH § S(Fqcenc e
B. sieT faaor & ariRiieor &1 wie II. 9% I

C. TFg 45 AH ITL. 3mad &

D. fRET Joaid 3@ & 31T & foeqor V. W& 34

A fRr o et 7 & @@ I giav

() A-LB-ILC-IID-IV

(2 A.LB-II,C-IV,D-II

(3 A-NLB-IV,.C-LD-II

(4 A.OILB-LC-ILD-IV

[Question ID = 3359][Question Description = Q05_Criminology_SHAAN_20NOV21_51_5Shift1]

1.1

[Option
2. 2

[Option
3.3

[Option
4. 4

[Option

ID = 12899]

ID = 12900]

ID = 12901]

ID = 12902]

6) Match List | with List lI

prepp
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List | |L1'st I Your Personal Exams Guide
A. The Crime of obtaining key pieces of Personal Information |I. Misogyny

B. Murder of Son or Daughter I, Stalking

C. Unwanted contact that communicates threat/fear (11, Identify theft

D. Hatred for Women |IV. Filicide

Choose the correct answer from the options given below:
(1) A-IV,B-II,C-NI,D-1
(2) A-IILB-IV,C-1l,D-I
(3) A-LB-1I,C-I,D-1IV
(4) A-IV,B-Il,C-1l,D-I

g IR GN -1 ¥ FART AR

-1 Ty 11

b o

A, HafFas Gaer & AGcaqol azdl &l JIcd &l & WY I Al gay

B. 97 A1 A & gor IL. 9IST S
C. 3@ifdd AT TR WeRT a1 91T HT FOR gl § 111, FTEAT TeT
D. Afgemt & gfa gom IV. Tl gear

dA fgU 1T fahed] 3 @ Wl 3o} g

(1) A-IV.B-ILC-III.D-1
(2) A-TIILB-IV.C-ILL.D-1
(3) A-ILB-II,C-III.D -1V
(4} A-IV.B-TILL. C-ILLD -1
[Question ID = 3360][Question Description = Q06_Criminclogy_SHAAN_Z0NOV21_51_5Shift1]

14

[Option ID = 12903]
g

[Option ID = 12904]
3 3

[Option ID = 12905]
4. 4

[Option ID = 12306]

7) Match List | with List lI

List | IList Il

A, 24*7 telephone service for Children . 1098

B. Housing related support services to victims |II. Children Home

C. Housing related to juvenile in conflict with law |III. Shelter/safe house
D. Housing related to neglected Children |IV. Juvenile Home

Choose the correct answer from the options given below:
(1) A-LB-1LC-1IV,D-1

(2) A-LB-IL,C-III, 0-1IV

(3) A-IV,B-IIlLC-U,D-1

4y A-lILB-L,C-1I,D-1V

SRR, S T, VRPN . [ 1 LY o g,
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- - Cd
{}\HI 1 = ﬂ“'-ﬂll 11 X1 ‘QA"‘I[I’I(‘I IS .

o e
A Feat & fau Freter Selrmie dar I. 1098
B. M3 & felv 311 § @<felq wgras |ar IL. sITet 978

C. fafd &1 Fociga el arel fR § ddfda smara gfaar

I11. 3/ geid 98

D. 3981 seal @ Gl smar giaer

V. iR 3§

AT U 9T fR[aedt 7 & @ 3ca gl

(1) A-LB-IIILC-IV.D-1I
(2) A-LB-II.C-NIIL.D-IV
(3) A-IV.B-III.C-IL.D -1
4 A-N.B-IL.C-II.D-IV

[Question ID = 3361][Question Description = Q07_Criminology_SHAAN_20NOV21_51_5Shift1]

1. 1

[Option ID = 12907]
2. 2

[Option ID = 12908]
3.3

[Option ID = 12309]
4, 4

[Option ID = 12910]

8) Match List I with List IT

List I

List II

Female Criminality

I. Discrimination of crime in Study of crime

Female Crime Rate

|II. Otto Pollack

Pink Crime

III. Gender Ratio Problem

Ol H]|

Feminist Criminology

IV. Female Office Workers

Choose the correet answer from the options given below:

(1) A-IMII,B-II, C-1I, D-IV
(2) A-IV.B-III.C-II. D-1I
(3} A-IIL. B-IIL. C-IV.D-1

(4) A-I, B-II. C-ILD-1V

T T H -1 @ AT B

-1

AT - 10

o

A, #\fger sgufar

I 3T & IeTAA H AW H AcHaT

B. HAfgelm 3799 &

II. 3IEr qrefh

C.Wm

IIL. fefar 3feTarar T

D. AT{4Eer 3193rer faA=

IV. Aol FrEeas FRIGA

A few e fawedl 7 & &9 IR ghav ¢

(1) A-III.LB-II. C-1. D-IV

(2) A-IV.B-IIL.C-1I. D-1I

prepp
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(3) A-II. B-III. C-1V.D-1
(4) A.-I B-II. C-II.D-IV
[Question ID = 3362][Question Description = Q08_Criminology_SHAAMN_20NOV21_51_5Shift1]

P |

[Option ID = 12911]
7.2

[Option ID = 12912]
3.3

[Option ID = 12913]
4, 4

[Option ID = 12914]

9) Match List | with List Il

List | IList [
A. Symptoms on Cessation of Psychoactive Substance II. Withdrawal Symptom
B. Advance effect of Drug use lll. Addiction
C. Repeated use of Psychoactive substance I, Aversion Therapy
!J. Suppress{ng undesurafble behavior associating Iv. Bad trip
it With a painful experience
Choose the correct answer from the options given below:
(1) A-1,B-IV,C-1l,D-11
(2) A-IV,B-1,C-IlL,D-Il
(3) A-1LB-1l,C-Ill,D-1V
(4) A-IV,B-1I,C-1I,D-1
Tl - IRl -1 @ gAfea Hife
g 1 a1
IRCICCRT
A FT-JTAr 9Gre T T & Hefetor _
HelaioT
B. ATGHIGE! & 35T TG II. Sa8T
ITLfasfr
C HeT:-J4/ 6T JoreT & I) IR 92T
D. 3@ifod s¥ag # fFdl aces 3qua & wgafed
IvV. 48 feu
B IR CHeA Tl

i QU 91T faedl # A TH e giAT

{1) A-LB-IV.C-ILD-1III
(2) A-IV.B-1L.C-IIILD-1I
(3) A-LB-II.C-TII,D-1IV
{4) A-IV.B-III,C-II.D -1
[Question ID = 3363][Question Description = Q09_Criminology_SHAAN_20NOV21_51_5Shift1]

1.1

[Option ID = 12915]
2. 2

[Option ID = 12916]
3.3

[Option ID = 12917]
4, 4

[Option ID = 12918]
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10) Match List | with List [I

List |

List Il

A. Endocrine Glands

. Animism

B. Demonology Il. Reality Principle
C. Freud lll, Hormones
D. Eysenck IV, Personality

Choose the correct answer from the options given below:

(1) A
(2) A
(3) A
(4) A

g T g I gafa A

-I,B-NL,C-1V,D-1
-I,B-N,C-NI,D- IV
-IV,B-,C-11,D-1
-, B-1,C-N,D-IV

et T T I
A Hed-ardl fer Lohgarg

B firemr faczr ILgme fora
CIs ITI. grata
D.3Ts8® IV. safdaca

AR eT are fasedl & @ @8 Seck IiAT

@
@
3
(4)

[Question ID = 3364][Question Description = Q10_Criminology_SHAAN_20NOV21_S1_Shift1]

Tl

A-LB-IIILC-IV.D-II
A-ILB-II.C-TIILD- IV
A-IV.B-III,C-II,D -1
A-IMB-ILC-ILD-1IV

[Option ID = 12919]

2. 2

[Option ID = 12920]

323

[Option ID = 12921]

4. 4

[Option ID = 12922]

11) Match List | with List [l

List |

List Il

A, Policy

. Quantitative Research

B. Words

Il. Plagiarism

C. Academic Fraud

lll. Translative Criminology

D, NMumbers

IV, Qualitative Research

Choose the correct answer from the options given below:

(1) A
(2) A
(3) A

“IV,B-I,C-1,D-1
-NLB-IV,C-1,D-1
~I¥,B-I,C-1,D-1

prepp

Your Personal Exams Guide




WWW.prepp.in

(4)

A-LB-ILC-NI,D-IV

Tl IR g -1 @ gAfea A

Ty -1 T -1

A i 1. IRAVTHS 2her
B.2TsG IL. aifgfcas aly

C. et ar@r gx I11. TAPRT 9T e
D. H& IV. aoTicH® 2T

A1 AT 1T fasodl & @ G Scck A0 ¢

(1) A.IV.B-ILC-ILD-I

2) A-MLB-IV,C-ILD-I

(3 A-IV.B-IILC-LD-II

4 A-LB-ILC-ILD-IV

[Question ID = 3365][Question Description = Q11_Criminology_SHAAN_Z0NOV21_51_5hift1]

1.1

[Option ID = 12923]

2. 2

[Option ID = 12924]

3 3

[Option ID = 12925]

4, 4

[Option ID = 12926]

12) Match List | with List [l

List | List Il
A, Psychic Anomaly |. Garofalo
B. Father of Modern Penology Il. Lombroso
C. Law of Saturation Ill. Beccaria
D. Father of Scientific Criminology V. Ferri
Choose the correct answer from the options given below:
(1) A-IILB-1L,C-1IV,D-1I
(2) A-LB-I,C-1III, B-1V
(3) A-LB-1LC-1IV,D-1
(4) A-IV,B-IILC-I1l,D-1
gl I g -1 8 gAfera fifew
T e -1
A AES fagarta 1. dRwar
B. 3MYfeid GUS AT & Sfeldh TLeNFsirar
C.aqgfan #1 s TTL. ST
D. 3ol IWLTARA & STelh IV. 3

o l kST, I [ -t

prepp
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TN Y IV 19T A1 O Il o0 '-q_;l)l“'lkf .

(1) A-IIILB-IL.C-IV.D-1II
(2) A-LB-ILC-III.D -1V
(3) A-LB-INL.C-IV.D-1I

(4 A-TV.B-NILC-T,D-I

[Question ID = 3366][Question Description = Q12_Criminology_SHAAN_2Z0NOV21_51_5Shift1]
1. 1

[Option ID = 12927]
2. 2

[Option ID = 12928]
3 3

[Option ID = 12929]
4, 4

[Option ID = 12930]

13) Match List | with List [l

List | IList 11

A, Arrest Guidelines
[I. Vishaka case

B. Juveniles related Guidelines [ll. Charles Shobraj cases|
C. Gender Harassment Guidelines |III. D.K. Basu case

D. Prison Reforms |IV. Sheela Barse case

Choose the correct answer from the options given below:
(1) A-lILB-IV, C-1,D-1I
(2) A-IV,B-1II,C-1l,D-I
(3) A-LB-1I,C-1Il, D-1V
(4) A-IV,B-1,C-Il,D-1

gl TH g 1§ g AR

Tl -1 'q:‘_r:i‘f'r -1
A, Frardy gl feanfader L faemaEr geior
B.fRiR @ ddfaa feanfader 1. TTed 2Tl 90T

C. afger scdivreT § dafda Renfader IIL & & ay SerdoT

D. FRE IR IV. el s qeheot

A R I Riwed F ¥ T 3] IR ;

(1) A-INI.B-IV. C-LD-1II
(2) A-IV.B-III.C-II.D -1
(3) A-LB-II.C-III.D-1IV
(4 A-IV.B-IL.C-IL.D-1II

[Question ID = 3367][Question Description = Q13_Criminology_SHAAN_20NOV21_S1_Shift1]
1. 1

[Option ID = 12931]
.00

[Option ID = 12932]

prepp
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| Tl

[Option ID = 12933]
4, 4

[Option ID = 12934]

14) Match List | with List [l

List | List Il
A, A total created from small units I. Correlation
B. A theoretical creation that cannot be directly observed Il, Aggregate

C. A relationship between variables lll, Construct

D. The degree to which two variables are related ‘IV. Association

Choose the correct answer from the options given below:
(1) A-Il,B-lIL,LC-IV,D-1
(2) A-LB-I,C-1I,D-1IV
(3) A-IV,B-IIl,C-1l,D-1
(4) A-IILB-ILC-1,D-1IV

T A F T I Y e R

el 1 gt I
A g sFsar 0 ffa 9w @ JK3nsirasral]
B. #gifdes Tl S YcdeTe: =R #7g0 g1 Tehell & IT. \epet

C. uRad & 7wy areey I AR
D.for7 i a& gr aRac 949ifed gia § IV. SE=R’T

o<l QT 1w fasedt A & 681 3ccR AT

() A-ILB-IIILC-IV.D-I
@ A-LB-IILC-IILD-IV
3 A-IVB-ILC-II.D-I
4 A-IIIB-ILC-LD-IV

[Question ID = 3368][Question Description = Q14_Criminclogy_SHAAN_20NOV21_51_5hift1]
1. 1

[Option ID = 12935]
3.7

[Option ID = 12936]
3.3

[Option ID = 12937]
4. 4

[Option ID = 12938)]

15) Match List | with List [l

List | lList I

A, Average, middle and most common score of a

|I. Causal relationshi
frequency distribution P

B. Relationship between cause of effect estimation

! fll. Variance
in survey

C. A intensive investigation of current and past lIII. Central Tendency

D. Boot strapping |IV. Case Study

prepp

Your Personal Exams Guide
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Choose the correct answer from the options given below: Your Personal Exams Guide

(1) A-LB-1l,C-1V,D-1ll

(2) A-LB-I,C-IN,D-1IV
(3) A-IV,B-lIl,C-1l,D-1
(4) A-IIkB-1,C-IV,D-1l

dt -I e ge -I1 9 gRfeia fifee

R I A -
A 3afca 3ided & ad, A ik  Efes
i [ AfAfcas geae
ITASS ThIT
B. Odeor F 0T 3 W & Avg OFaed &
I1. aRay
kol
C. dana 3R saerici g Heayor II1. 7% wdfed
D. q¢ weiftr IV. ATHT AU

A e ae feedt @ @ gy Icavw giav .

(1) A-LB-ILC-IV,D-II
2 A-LB-ILC-ILD-IV
@ A-IVB-IILC-ILD-I
4 A-ILB-LC.-IV.D-II

[Question ID = 3369][Question Description = Q15_Criminology_SHAAN_20NOV21_51_5Shift1]
1. 1

[Option ID = 12939]
2. 2

[Option ID = 12940]
3.3

[Option ID = 12941]
4, 4

[Option ID = 12942]

16) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A : Positivism in Criminology is associated with writers like Cesare Lombroso,

Reason R : Cesare Lombroso was referred to as the ‘father of Modern Criminology’

In light of the above statements, choose the most appropriate answer from the options given below

(1) Both A and R are correct and R is the correct explanation of A
(2) Both A and R are correct but R is NOT the correct explanation of A
(3) A is correct but R is not correct

(4) A is not correct but R is correct

AT 7 FT T a0 § ¢ v @ AP (A) 3R g & TF (R) FET T B

AfFFYA (A) :  FRATT F Gegsrare TR s S8 aasl 3 agaifea ¢

& (R) . ToR AT a7 SRS SRR 1 Sl F61 S §

39T FEl & R H ARifha Resal 7 O aifts Iuea 3T 99
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(1) (&) 3R (R) 3=t @ar § 31 (R), (A) & @@ e g
@) (3R R) 36 G § Red (R), (A) & GE A @0 gl
3 QTN § Red (R) 6 7 ¢

@ (AT TG § Weg R) T E

[Question ID = 3370][Question Description = Q16_Criminology_SHAAN_20NOV21_51_5Shift1]
1.1

[Option ID = 12943]
2. 2

[Option ID = 12944]
3.3

[Option ID = 12945]
4. 4

[Option ID = 12946]
17) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A : Cyberspace is monitored by Internet Service provider(s) and indeed, Police.

Reason R : The Challenge to Police is that of Jurisdiction. There may be many problems faced by police in enforcing
domestic criminal laws across international boundaries.

In light of the above statements, choose the most appropriate answer from the options given below
(1) Both A and R are correct and R is the correct explanation of A

(2) Both A and R are correct but R is NOT the correct explanation of A

(3) A is correct but R is not correct

(4) A is not correct but R is correct

A & FeT AW AT § 1w @ afdee (A) ik g@X & aF (R) FET 9T G

AT (A) - AHIEAT B ARG Seeteic qar gerar Jeransit 3R awda: gfer garr
Sdr .

a& (R) - gfers & werer sifeRar & geild @ 9fery @ sioeursdrr st I smad
mﬁﬁ}ﬁaﬁmﬁmﬁﬁ@ﬁmﬁmmmﬁ

el &,

s wal F JehE I Tawita fawedl 3 3 geifieswgEd S @
O (W3R ®) I T § 3R (R). Q) F 8 sare B

@ W3R ®) Q= T § e (R), (A) H TG Saren TG gl

@ (AT Reg (R) T 78 B

@ AT T g R T R

[Question ID = 3371][Question Description = Q17_Criminclogy_SHAAN_2Z0NOV21_51_5Shift1]
1. 1

[Option ID = 12947]
2. 2

[Option ID = 12948]
S
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[Option ID = 12949] Your Personal Exams Guide
4. 4

[Option ID = 12950]
18) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A : People sometimes decide not to report crimes to police.

Reason R : This happens when the Victim considers the crime to be too trivial {(or) when they feel that police will not be
able to do anything,

In light of the above statements, choose the most appropriate answer from the options given below
(1) Both A and R are correct and R is the correct explanation of A

(2) Both A and R are correct but R is NOT the correct explanation of A

(3) A is correct but R is not correct

(4) A is not correct but R is correct

A g et AT ae § ¢ o A sifEeee (4) 3R gt @ aF (R) FT

e (A) - Fh Folt dwr ofor &7 T i e a6 & & ooy A §

aF (R) - Uy W& RRufa A grar § o9 9t afea TR & Agcadla THSIAT £ 3rmar
oI @ g § T gfew oo a8l w0 gl

sHiaa Fel & IeE F Awelifea Reedl § ¥ gdifie suged ok o9
(1) AR R agr § 3 R, A& a8 =& §)

2 AR R T § Wog R, AH @fr oI @ ¢

@ ATH § Weg R U 7l ol

@ A" a0 § Red REW &

[Question ID = 3372][Question Description = Q18_Criminology_SHAAN_20NQOV21_S1_5hift1]
1.1

[Option ID = 12951]
2. 2

[Option ID = 12952]
3. 3

[Option ID = 12953]
4, 4

[Option 1D = 12954]
19) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A ; The main aim of the Self-Report studies is to develop a more accurate measure of the extent of crime.

Reason R : Self-Report studies avoid the problems of non-reporting and non-recording, associated with Police-Recoded
Statistics

In light of the above statements, choose the most appropriate answer from the options given below

(1) Both A and R are correct and R is the correct explanation of A

(2) Both A and R are correct but R is NOT the correct explanation of A

(3) A is correct but R is not correct

(4) A is not correct but R is correct

A=Y & @t QU a1 § ¢ ue A ffeua (4) 3R g@Y @ a% (R) F1 a9
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A9l 8T &

& (R) - RO 3ree & gfe qanr RS T oo snwst @ wefaa ROE a8 oo
At 3R Rapis 787 fv o fF et =1 9RgR 8iar §

Suad el & 3neid 3 fweifhd Reedt 3 & weifid 3ued eak T
() AR RaE ¥ § 3R R, AT @gr carear gl

@ A3 RIET @ § Weg R, A® 98 aren 797§

(@ AT Y Red R a4 ¢

@  ASGQ A¢ § 9 RAA §

[Question ID = 3373][Question Description = Q19_Criminclogy_SHAAN_2Z0NOV21_51_5Shift1]
1. 1

[Option ID = 12955]
2.2

[Option ID = 12956]
3 3

[Option ID = 12957]
4. 4

[Option ID = 12958]

20) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A : Capitalism shapes social institutions, social identities, and social action. Capitalism creates class conflict and
contradictions.

Reason R : Crime is not a response to Capitalism and its contradictious

In light of the above statements, choose the most appropriate answer from the options given below
(1) Both A and R are correct and R is the correct explanation of A

(2) Both A and R are correct but R is NOT the correct explanation of A

(3) A is correct but R is not correct

(4)  Aisnot correct but R is correct

A o @ua Bw o § @ v @ i (A) 3R gEy @ a& (R) a1 T

ABFAT (A) : Gl & wwforr Seunst, st HfeAar 3 awfae sl & W@y
frATOT gIaT §. Iotarg & IRUIeRGRT a@f way ik sfafdiy scded giar §.

as (R) ;3T geiarg 3N SR 3afay & Tegea) 00 6

IRFd FA F MAE # ted eed 7 & waifte Iuged 3oR 99 ¢
(1) AR R |6 ¢ 3R R, AH g e g

2 AR RS w8 § Weq R, A 7 9 Samm 74 B

3 AT § Wed R W T §)

(9 AW AF § Red RED &

[Question ID = 3374][Question Description = Q20_Criminology_SHAAN_20NOV21_S1_Shift1]

| 1.1
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Lok

[Option ID = 12960]
3.3

[Option ID = 12961]
4. 4

[Option ID = 12962]
21) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A : Withdrawal Symptoms occurs when the drug use is stopped by the drug dependent.
Reason R : It is associated with pleasant psychological and physiological symptoms.

In light of the above statements, choose the most appropriate answer from the options given below
(1) Both A and R are correct and R is the correct explanation of A

(2) Both A and R are correct but R is NOT the correct explanation of A

(3) A is correct but R is not correct

(4) A is not correct but R is correct
AT FuA Rw 3w § ;v F U (A) 3R g@ & & (R) F@T I L

3ifAF (A) - afeads doror W fafa 7 gar § o= siefar a3 Acs gt &1 s

FLAT 9 FT S B

a& (R) . g UG AeArdAeTE eRRBHICHS GaT 3 wgaiferd §.
9 HUel F Jelles H frifasd fdenedl & & Falfdes 3uged Seal 9+ ¢
(1) A3R Ra= o § 3k R, A $r oy e g1

(2)  A3R Rkl 6 § Req R, A @ carear =gk §1

3 AT Y Wed RIA G881
(4 AW =@ § Red BT

[Question ID = 3375][Question Description = Q21_Criminclogy_SHAAN_Z0NOV21_51_5Shift1]
1. 1

[Option ID = 12963]
2. 2

[Option ID = 12964]
3 3

[Option ID = 12965]
4. 4

[Option ID = 12966]
22) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A : Associated with the problems of poverty and unemployment is the problem of beggary which is a social
problem,

Reason R : While poverty, unremunerative agriculture are reasons for beggary, begging is quite often caried out in
organized gangs, especially in case of child beggary.

In light of the above statements, choose the most appropriate answer from the options given below

(1) Both A and R are correct and R is the correct explanation of A

(2) Both A and R are correct but R is NOT the correct explanation of A
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(3) A is correct but R is not correct

(4) A is not correct but R is correct

A aF @uer QU 1w § @ uw & aiffiwe (A) 3 g @ aF (R) @T IRT g

AU (4) : e 3R R @ F81 Margica H qaear v qunfas @ §.

d% (R) ;. wafd e, sewe F¥ Fengfca & FRor g, Feed @9y w1 § arer

fBratice &1 SRR orfed 9T garn fFar =i ¢

ST el & ol & fEwifha el # & aliesTae Seal 99
(1) AR RS @@ § 3 R AH a8 e B

(2 A3 RET T § g R, A T@ Aean 7t g

(3 Awg v Wed RUgr 7 &

@ AT A0 § Red R &1

[Question ID = 3376][Question Description = Q22_Criminology_SHAAN_20NOV21_S1_5Shift1]

1.

23) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

i
[Option ID = 12967]

ook

[Option ID = 12968]

. 3

[Option ID = 12969]
4

[Option ID = 12970]

Assertion A : LGBTQ is an acronym for Lesbian, Gay, Bisexual, Transgender and Queer

Reason R : These terms are used to describe be a person’s sexual orientation or gender.

In light of the above statements, choose the most appropriate answer from the options given below

(1) Both A and R are correct and R is the correct explanation of A

(2) Both A and R are correct but R is NOT the correct explanation of A
(3) A is correct but R is not correct

(4) A is not correct but R is correct

A & Fue e o § @ o A e (A) 3R gEt @ aF (R) FET T E
AFfAFUA (A) : TSNS FAfITET A, a5 FaRIerd, Tieist 3R ey ar i &
qftaoff ¥

& (R) - ST Yal & ST oafad & i faemara snar st fr sarear e & @
f&har rar &,

IRFd Fei F 3T H iestifhd fawedt #§ & WaIfUE 3TET Sea ot ¢
() A3 RaHAT T § 3t R, A Ty === ¢l

@ AR RO @8 § Weg R, A F 6l s g g
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(8) ATHE Wed R W@ 7 &
@ AW A § Weg REE g

[Question ID = 3377][Question Description = Q23_Criminology_SHAAMN_20NOV21_51_Shift1]
|

[Option ID = 12971]
2, 2

[Option ID = 12972]
3.3

[Option ID = 12973]
4, 4

[Option ID = 12974]

24) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A : Corporate Crimes are committed by big Corporations and are also known as Organizational or Occupational
Crimes

Reason R : Bribery, Counterfeiting, embezzlement, bank fraud and blackmail etc are various types of corporate crimes

In light of the above statements, choose the most appropriate answer from the options given below

(1) Both A and R are correct and R is the correct explanation of A

(2) Both A and R are correct but R is NOT the correct explanation of A
(3) A is correct but R s not correct

(4) A is not correct but R is correct

AN &1 e U AT § : Ua @ IS (A) 3R g @ T (R) FE1 9T B

JTFFAT (A) ; FNT RN I3 FHURT TEAT @R FIRA fFe T §3iR 5= TereaTcas
3rar regrari&e 3ty fr oft @aer & s &

a& (R) . Rega@dy |, Srageh, 994, 3¢ g9 31N sdede scafe et g &
HIUNT HIWT §

ST Fe & el A R fwedl & Tafe SugEd SeaR 9
1) Ak R @ § 3k R, A wf saren @)

@ AR R @ § wed R, A T sgrear 87 g

3 AT E Red BRI G

@ AU G § g RAF R

[Question ID = 3378][Question Description = Q24_Criminology_SHAAN_20NQOV21_S1_5Shift1]
< 0

[Option ID = 12975]
1)

[Option ID = 12976]
3.3

[Option ID = 12977]
4, 4
[Option ID = 12978]

25) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: Terrorism provokes deep fear and insecurity more than other forms of violence.
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Reason R: Cause of terrorism can be divided into four levels: Individual, Rational, systemic and ideological Your Personal Exams Guide

In light of the above statements, choose the most appropriate answer from the options given below
(1) Both A and R are correct and R is the correct explanation of A

(2) Both A and R are correct but R is NOT the correct explanation of A

(3) A is correct but R is not correct

(4) A is not correct but R is correct

A1 g Fer Qe aw § @ e @1 AffiFua () 3R g Y a& (R) 1 3 B

AHBFUA (4) : dharg A 3T WhR & Gar 6 Joaar 7 A s 3 IR v sraar
& IHIT Icde=T il B

a® (R) - 3Tdehdlq & FROT & IR TR A ferad far o ar & SafSesds, aifée,
goTieilerd 3R A9 o smaRa

FiE Fat & 3o 3 PTiihd fadedt F ¥ wefwSRIET ek T
() A3 R ¥ § 3R R, Adr 98 sarer g

@ AR R @8 § Weg R, A $1 9 carer 797 §

3 AT Y Ted REF 7 B

@ AW S § 9%d R W ol

[Question ID = 3379][Question Description = Q25_Criminology_SHAAN_20NQOV21_S1_5Shift1]
1. 1

[Option ID = 12979]
2.3

[Option ID = 12980]
3.3

[Option ID = 12981]
4. 4
[Option ID = 12982]
26) How can mass media cause crime?
A. Labeling
B. Deviance amplification
C. A political commitment to social change
D. Creation of moral panic
Choose the correct answer from the options given below:

(1YA, Band Donly (2)B, C and D only

(3} A, Band Conly (4) C and D only
AT HEAT AR FT FROT FQ g6 Gohdl 87

A oidel 1Mol
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L RIFF1 11T M IVLWCITT -0 AICT SIWIST IO A OIS Ul

D. s s v sgenm & faATor

A9 R v fawedt § § I8 3ol T
(1) a3 A B3RD

(2) &aa B,C3HR D

(3) &aa A, B3RC

(4) daa C3ilk D

[Question ID = 3380][Question Description = Q26_Criminology_SHAAN_20NOV21_S1_Shift1]
. 1 [Option ID = 12983]
2 [Option ID = 12984]
. 3 [Option ID = 12985]
. 4 [Dption ID = 12986]

e it R

27) The key elements of Feminist scholarship in criminology are
A. Gender is not a natural fact

B. Masculinity and Femineity are not symmetrical

C. Involves motivated offenders

D. Systems of knowledge reflect men’s view

Choose the correct answer from the options given below:

(1YA, Band Conly (2) B, C and D only

(3)Band Conly (4) A, B and D only

IO A ANE i & HEd Iadd g

A ST AElE 9 §

B. eV 3t aifca wafdfas 761 §

C.  TEA ARG FWeh o @ &

D. AR & yonferdt & 9e9 i fseahror gfafdfaa gar ¢

AT fe T famedt F & WE IR I -
() FaTA B3R C

(20 &aa B,C3R D

(3) adar B3iitC

(4) &aer A, B3iRD

[Question ID = 3381][Question Description = Q27_Criminology_SHAAMN_20NOV21_51_5Shift1]
1. 1 [Option ID = 12987]
| 2. 2 [Option ID = 12988]
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4. 4 [Option ID = 12990]

28) Which of the following statements are correct in the context committing service of restorative justice?
A, Direct involvement by the victim and offender in a restorative process.

B. Social learning theory emanates from behavior theories of psychology.

C. Involvement of the community,

D. Community members and offender work side by side.

Choose the correct answer from the options given below:

(1} A, Band Conly (2} B, C and D only

(3)A,B,Cand Donly (4) A, C and D only

qAiUe IR A daT FRE A & Toedl F FrffEd & ¥ B A T 7@ B
A geeeer ufgar & 9f3a ik srawdr & goger afocaan

B. wwfas it Rigia & sacafca Asiifazier & sgagr Reia & gidl ¢

C.  ©¥HcE & Hidsddr

D. THCHE & "oy AR 39Ul qukds §7 § FY #A §

A Rw T fwedt #F & @@ SR T
(1) &ad A B3k C

() &aa B,C3R D

(3 ABC3RD

() &ael A.C3RD

[Question ID = 3382][Question Description = Q28_Criminology_SHAAN_20NOV21_51_5Shift1]
1. 1 [Option ID = 12991]
2. 2 [Option ID = 12992]
3, 3 [Option ID = 12993]
4. 4 [Option ID = 12994)

29) Focal concerns of lower class culture are

A. Trouble

B. Excitement

C. Toughness

D. Differential Applicability

Choose the correct answer from the options given below:
(1YA, Band Conly (2) A, B only

(3) C, Donly (4) A,B,C and D only
foret e Teapfar @ srer Ftenifona 31 & RrereY @2

A AT
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[Question ID = 3383][Question Description = Q29_Criminology_SHAAMN_20NOV21_51_Shift1]
1 [Option ID = 12995]

Fael A, B3R C
&dol A B
thael C.D

ABC3RD

2. 2 [Option ID = 12996]
3. 3 [Option ID = 12997]
4. 4 [Option ID = 12998]

[Question ID = 3384][Question Description = Q30_Criminology_SHAAN_20NOV21_S1_Shift1]
| 1.

30) Which among the following are true in the case of Cohen & Felson’s contribution to Criminology?

A. Absence of capable guardian

B. Location of immigrants

€. Motivated offenders

D. Value, portabkility, and desirability of target.

Choose the correct answer from the options given below;

(1)A, Band Conly (2)B, C and D only

(3 BandConly (4)A, Cand D only

HYUURIET H Plgd HIT Hedd & ANEH & A A Fieai@d & O &ld O $3d g1 g7

A gURY AEEE F AT

B. 3cyaitaar $r afeuia

c. 3@ saueEh

D. ¥ed Fgadl 3R e 1 go=igar
M fou av fasedt 7 @ T 3o T
() Sad A B3R cadr &

() @&ad B.C3IRDTA §

(8) Fad B3k cadrg

(4) FaT A CIHIRDENE

1
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2t

[Option ID = 13000]
3.3

[Option ID = 13001]
4. 4

[Option ID = 13002]

Topic:- 68Crim_B

1) Read the following passage carefully and then answer the questions that follow.

Raising concern over misleading information and obscene content being shared on popular social media platforms such as
Facebook and YouTube, a Public Interest Litigation petition filed before the court sought a direction to the Centre to
regulate the content and form a panel of members to censor content on social media. The petitioner said that the Centre
must initiate steps to control, monitor, guide and regulate such content shared widely on social media platforms. Terming
the contents as disturbing and has psychological effect, apart from being hateful, misleading and involved cyber bullying.

farafaf@a sggir M caeqas afew Ik Re o el & sow O

HAYH 3R YIS 9 YT HifEan el W A guw AHEHRT AR arvelier qraut wer @i
T @ R, IuN fHfdd S e & wHe U SAed FifeesT R ot et 1 3w sWid
arfsrenT & Areaw @ AT /@ ghy e man @ 6 9z Feg w ke = 6 ag gee
&1 T et S0 S 9Tl Hitgan @ grnft w fEfa ) ot «at A st o a6
v wifgar v R IR B 5 @ arni & FEmm, s, anieyia ok frame & fom
®IW AT IJTW| AT ht UGS, FTHE R AR 92 g9 IdH & A1 W @
HATARATI THTE aTet AR Iqga Setr arett el T 4T 21

The raising concern, according to the paragraph is about
(1) Print media (2) Media

(3) Social Media (4) Phishing

arcier 3 fewsitoiaa 3 & e ar 3 fiar saw & o= § 2

(1) T A @
(3) e Hifsar (4) Seelole & ARAHE Q «@r 2ar (e

[Question ID = 3385][Question Description = Q31_Criminology_SHAAN_20NOV21_S1_Shift1]
1. 1 [Option ID = 13003]
2. 2 [Option ID = 13004)
3. 3 [Optien ID = 13005]
4. 4 [Option ID = 13006]

2) Read the following passage carefully and then answer the questions that follow.

Raising concern over misleading information and obscene content being shared on popular social media platforms such as
Facebook and YouTube, a Public Interest Litigation petition filed before the court sought a direction to the Centre to
regulate the content and form a panel of members to censor content on social media. The petitioner said that the Centre
must initiate steps to control, monitor, guide and regulate such content shared widely on social media platforms. Terming
the contents as disturbing and has psychological effect, apart from being hateful, misleading and involved cyber bullying.

frafaf@a sigair # caeqds wfee sk R o weal & sor R

HHEH IR YA TH AR WIS A=l R At WHeh AHGRI AR ST ATRIT W 6
w1 @ 2, o FEfda fiem =rare & uWet e SAiga aieent 2R oht W §1 3| SAtEd
FIFIET o HAIeaH § <AETed 8 A0y fear wan @ 6 o o o e = 6 ag e
T Tk Fet T8 A ST Hifear ) A o bt W o wat F g e
AT HITSaT Wil 9% FaR hi A7 T Arnit o s, 1gdistur, Anieyi iR Famw & Tm
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TATSAT® TS Tl AT IqgT BerT arelt Tgl 74T 2l

which among the following reasons causes concern?

(1) Explicit crime details (2) Clean news

(3) Misleading information (4) Public interest litigation

farafaf@a # 9 &9 sRor [&ar 3cae gid! §7

(1) T ywfEs faawor (2) TUST HAMER
8)  HATHG [T (4 Safga e

[Question ID = 3386][Question Description = Q32_Criminology_SHAAN_20NOV21_S1_Shift1]
. 1 [Option 1D = 13007]
2 [Option 1D = 13008]
3 [Option ID = 13009]
. 4 [Optien ID = 13010]

oW

3) Read the following passage carefully and then answer the questions that follow.

Raising concern over misleading information and obscene content being shared on popular social media platforms such as
Facebook and YouTube, a Public Interest Litigation petition filed before the court sought a direction to the Centre to
regulate the content and form a panel of members to censor content on social media. The petitioner said that the Centre
must initiate steps to control, monitor, guide and regulate such content shared widely on social media platforms. Terming
the contents as disturbing and has psychological effect, apart from being hateful, misleading and involved cyber bullying.

rafaf@a sigair  camqds ufee sk R ae meal & sar R

HHEH IR YA TH AT WIS A=l R At JHeh AR X STt TRt Wer &6y
1 @ 2, s =T e ST & uwet e SAiga aiieent 2R ht W 31 3| At
FTFIET o HAIeaH | <o 8 g0y fear wan @ o e o e = 6 ag e
T Tk Ter 99T ST |I9TeT HiTSaT W AT &t [ fEa ot | arferent sat 3 el § 76 o
v MifEET w=i W AR ht S @ arnit o e, sigeten, anieyi ok femm & fon
®aH 2AYY ST\ UTHHT Tl GuIeds, WTH 2 WTgE a7E 999 da™ & d1el |1 5§
TATAAT TS AT 3R STZS BorT ATelt &l 74T 2l

Which among the following is a social media platform?
(1) Microsoft Excel (2) Microsoft Word

(3) Facebook (4) PowerPoint

Ao # & Fia derer Afs wewet § 2

(1) HSEETE TR (2) HISHEIE a5
(3 HUEEH @) YR wEe

a ]

[Question ID = 3387][Question Description = Q33_Criminology_SHAAN_20NOV21_S1_Shift1]
. 1 [Option ID = 13011]

2 [Option ID = 13012]
. 3 [Option ID = 13013]

4 [Opticn ID = 13014]

PR e

4) Read the following passage carefully and then answer the questions that follow.

Raising concern over misleading information and obscene content being shared on popular social media platforms such as
Facebook and YouTube, a Public Interest Litigation petition filed before the court sought a direction to the Centre to
regulate the content and form a panel of members to censor content on social media. The petitioner said that the Centre
must initiate steps to control, monitor, guide and regulate such content shared widely on social media platforms. Terming
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farafaf@a sggir A caeqas afer Ik Re o el & saw O

HAYH 3R YIS 9 YT HifEan wul W A guw AEHRT AR rvelier qraut wer i
T @ R, IuR fHfed S e & wHe U SATed AT SRR ht Wt B 3w sWiEd
arfRrent & Areaw o AT /@ aghy e man @ fh oz deg w ke & 6 ag gee
&1 Th et S0 STt Givrer Hifgan @@ wrnft o b ) ok st Y wEr t o
v wifgar v @R IR B 5 @ arnit & FEmm, s, aniavia ok frame & fom
®IW AT IJTW| AT ht JUITETE, FTHE AR AR 912 g9 a9 & A1 W @
HATARATIh THTE FTAT AR IUgS e aTelt gl 74T 2

YouTube is a form of
(1) Print Media (2) Magazine

(3) Software (4) Social Media

Yegs Awstifhd # F famva w78 2
(1) fUre Hifsar (2) afFehr
(3) HIRdW (4) |rered AfE

[Question ID = 3388][Question Description = Q34_Criminology_SHAAN_20NOV21_51_Shift1]
1. 1 [Optien ID = 13015]
2. 2 [Option ID = 13016]
3. 3 [Optien ID = 13017]
4. 4 [Option ID = 13018)

5) Read the following passage carefully and then answer the questions that follow,

Raising concern over misleading information and obscene content being shared on popular social media platforms such as
Facebook and YouTube, a Public Interest Litigation petition filed before the court sought a direction to the Centre to
regulate the content and form a panel of members to censor content on social media. The petitioner said that the Centre
must initiate steps to control, monitor, guide and regulate such content shared widely on social media platforms. Terming
the contents as disturbing and has psychological effect, apart from being hateful, misleading and involved cyber bullying.

farafaf@a s f caeqas afew Ik Re oo nal & 3ow O

HAYH 3R YIS 9 graTioren HifEan wul W A guw WHEHRT AR arvelier qraut wer i
T @ R, IuR fHfad S e % wHe U SAed FifeesT SRR ht Wt 31 3w sl
et & ATeEw A AT W 0y TR man @ fop o g w e w6 ag geen
&1 T el 99T AT vl Hifear o wnnft ) et o) @t wat 2 w2
v ifgar v R IR B 5 @ arnit & FEmw, sgehen, aniayia ok fame & fom
HaW AT IJTW| AT ht JUIETE, HTHE AR ATZER 912 g9 IdH & A1 9 3@
TITAATE THTE ATl 3R IUZT HeAr areit HeT 4T 2

Who should take steps to censor the contents of social media?
(1) State Governments (2) Government of India

(3) Supreme Court (4) High Court

grerel HiEar & Rl & 9w &6 & T [ Sea 3o 9ige ?

1 I=9 SN (2) #HRd TWHR

() IaHE e @) 3T AR
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[Question ID = 3389][Question Description = Q35_Criminclogy_SHAAN_2Z0NOV21_51_5Shift1]
1. 1 [Option ID = 13019]
2. 2 [Option ID = 13020]
3, 3 [Option ID = 13021]
4, 4 [Option ID = 13022]

Topic:- 68Crim_C
1) Read the following passage carefully and then answer the questions that follow.

These included deviation in head size and shape from the type common race from which the criminal came. Asymmetry of
the face, excessive dimension of the Jaw of check bones, eye defects and peculiarities; ears of unusual size or occasionally
small; nose twisted; chin receding, excessive length of arms supernumery fingers and toes; imbalance of the hemispheres of
the brain (asymmetry of Cranium).

frrafafae e & tamEs qiew Ak Re 7w weal & e R

SoTe AR & 3Tfa 31N SR A iRl & 9Hed Aol JoosfHe 0wg & fauet, - gy &
sAfafaw gen, T & HORT F J98 A JAbF Qe a7 Ay ik Bfeaad, scafs
9% HER & ivar I N B FA, T AR, G U 6, Iearg, i AR aifney
& & 3pIfo, ARCaSH & AT HT FRAGes (FUT FT IATACS Gl AT o

The characteristics give in the above paragraph refers to which among the following
(1) Animism (2) The Female Offender

(3) Atavist (4) Classical School

3T e A G v sfienaiivie o faratatad 7 9 e wafea 82

(1) Shadg (2) HAfgem TORTEdr
3 Yiow (4) IR facae™

Oy

[Question ID = 3390][Question Description = Q36_Criminclogy_SHAAN_Z0NOV21_51_5Shift1]
1. 1 [Option ID = 13023]
2. 2 [Option ID = 13024]
3, 3 [Option ID = 13025]
4. 4 [Option ID = 13026)

2) Read the following passage carefully and then answer the questions that follow.
These included deviation in head size and shape from the type common race from which the criminal came. Asymmetry of
the face, excessive dimension of the Jaw of check bones, eye defects and peculiarities; ears of unusual size or occasionally

small; nose twisted; chin receding, excessive length of arms supernumery fingers and toes; imbalance of the hemispheres of
the brain (asymmetry of Cranium).

frafaf@a ogamnr & camgEs afer 3k e v mat & seav S

et fOT & 3l AR PR A fEl & WAy aeel geoufAs uey & fasrert, . Agy &
sAtAfas giom, e & JFRT F S@ & cafos fa a9 aw ik Rfmary, scafos
93 A1 & 3ivrar I3 FN N HFiel, T A, I G 6], TG, Al AR sfaET
R & ey, AfeasEH & Ilrar 1 IRGe (FUIE & STEAMATF g e o

Which among the following refers to the physical characteristics?
(1) Anxiousness (2) Head size and shape

(3) Stress ridden (4) Lack of interest
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farafaf@a # & F=r aiRe fadwar & gafda §?

(1) 2 &R & g 3R 3R
(8)  dem@aed (4) R 1 T

[Question ID = 3391][Question Description = Q37_Criminology_SHAAMN_20NOV21_51_5Shift1]
1. 1 [Option ID = 13027]
2. 2 [Option ID = 13028]
3. 3 [Option ID = 13029]
4. 4 [Option ID = 13030]

3) Read the following passage carefully and then answer the questions that follow,

These included deviation in head size and shape from the type common race from which the criminal came. Asymmetry of
the face, excessive dimension of the Jaw of check bones, eye defects and peculiarities; ears of unusual size or occasionally
small; nose twisted; chin receding, excessive length of arms supernumery fingers and toes; imbalance of the hemispheres of
the brain (asymmetry of Cranium}.

fefafae aganr & caegEes afer ik Re v wat & seax I

et fOT & 3l AR TR A iRl & WAy el geoufAs u & faset, . A8y &
sAtAfas g, e B AT F S@ & s fae a9 aw ik Rfmary, scafos
93 AR & 3ivrar 30 FN A HFiel, T AH, I G 6], Iy, Al AR dfEET
Ry srrferdl; ARasE: & ey @ aRiges (Fure & FERfATIS glen) affe o

The person described in the above paragraph, exhibits a variety of
(1) Neutral Characteristics (2) Physical Characteristics

(3) Psychic anomaly (4) Psychiatric illness

3udad acare # aftia cafed # Peafafaa # 3 feadh fafduar il a8 §2

(1)  acer fadmar @) i Sdwar
(3 AfEs fagafa (4) dAMRRRT Teorar

[Question ID = 3392][Question Description = Q38_Criminology_SHAAN_20NOV21_S1_Shift1]
. 1 [Option ID = 13031]
2 [Option ID = 13032]
. 3 [Optien ID = 13033]
. 4 [Option ID = 13034]

oW =

4) Read the following passage carefully and then answer the questions that follow.

These included deviation in head size and shape from the type common race from which the criminal came, Asymmetry of
the face, excessive dimension of the Jaw of check bones, eye defects and peculiarities; ears of unusual size or occasionally
small; nose twisted; chin receding, excessive length of arms supernumery fingers and toes; imbalance of the hemispheres of
the brain (asymmetry of Cranium),

frafaf@a agamr & camEs afer A e v mat & seav SR

et fOT & 3l AR PR A iRl & WA aeel geoufAs wey & fasret, . AgY &
sAtAfas g, e & JFRT F S@d & s fa o aw ik Rfsary, scafos
a3 A1 & 3ivrar 3 FN N HFiel, T AIF, G G 6], Iy, Acafoin AR sfEET
Ry srrferdr; aRasE & alemd @ aRiges (Fure & FeRfAfds gen) affe o

The characteristics prove which among the following
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(1) Crime is normal (2) Crime is functional

(3) Punishment should fit the crime  (4) Criminals are born

o1 Jifdtenaiiors ol & = & gar §7

(1) 39T G §
(2) 3T THRATHF &

(3)  GUS U &k HeI®Y gl ATRW
4 FO AT SH ¥ dgud g §

[Question ID = 3393][Question Description = Q39_Criminology_SHAAN_20NOV21_51_5Shift1]
1. 1 [Optien ID = 13035]
2. 2 [Option ID = 13036]
3. 3 [Option ID = 13037]
4. 4 [Option ID = 13038)

5) Read the following passage carefully and then answer the questions that follow,

These included deviation in head size and shape from the type common race from which the criminal came, Asymmetry of
the face, excessive dimension of the Jaw of check bones, eye defects and peculiarities; ears of unusual size or occasionally
small; nose twisted; chin receding, excessive length of arms supernumery fingers and toes; imbalance of the hemispheres of
the brain (asymmetry of Cranium).

frafaf@a agamr & camEs afer Ak e v mat & seav e

et fOT & 3l AR PR A IfERl & Wiy aeel geoufAs uey & fasret, . A8y &
sAtAfas g, e B JFRT F S@ & aafos fa a9 aw i Rfary, scafos
a3 A1 & 3ivrar 3 FN S HFiel, T AIF, G G 6], ATy, AHafoin AR sfEET
Ry srferdr; ARasE & alemd @ aRiges (Fure & FeRfAfdE glen) aiffie o

Who among the following, in your opinion, has written these ideas originally?
(1) Cesare Beccaria (2) Cesare Lombroso

(3) Jeremy Bentham (4) E H. Sutherland

3M9& Ad J Fraifda A A faegle o lFart & 7o w0 @ faftes & §?

(1) Hiow diRar @ e diEar
(3) o qUH @) 3 T HEws

[Question ID = 3394][Question Description = Q40_Criminclogy_SHAAN_20NOV21_51_5Shift1]
1. 1 [Option ID = 13039]
2. 2 [Option ID = 13040]
3. 3 [Option ID = 13041]
4, 4 [Option ID = 13042)

Topic:- 68Crim_D
1) Who among the following defended the concept of natural crime?
(1) Garofalo (2) Lombroso

(3) Ferri  (4) Beccaria

frfaila 7 4 i dafils sty & deeaer & garae 92
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(1)  Aather 2 g
3 & @) JFRaEr

[Question ID = 3395][Question Description = Q41_Criminclogy_SHAAN_2Z0NOV21_51_5Shift1]
1. 1 [Option ID = 13043]
2. 2 [Option ID = 13044]
3. 3 [Option ID = 13045]
4. 4 [Option ID = 13046)

2) What is the name of the conceptual framework in which the research is carried out?
(1) Research hypothesis (2} Synopsis of research

(3) Research paradigm (4) Research design

3 ITAURONcHS I & &7 #AH § foras o FF fhar siar 82

(1) e Wrhedsn (2) 2T FHT TR
(3) T wUErEl (4) airer 3fFReg

[Question ID = 3396][Question Description = Q42_Criminclogy_SHAAN_2Z0NOV21_51_5Shift1]
1. 1 [Option ID = 13047]
2. 2 [Option ID = 13048]
3, 3 [Option ID = 13049]
4, 4 [Option ID = 13050]

3) Which one among the following is not a victimless crime?
(1) Homosexuality (2) Prostitution

(3) Culpabale homicide not amounting to murder (4} Alcoholism

fAmfeifad & & &1 3clisa W 3IWrT §?

(1)  GHelRIEwar

@ dwdfe

(3) Ui g T S g Jer ol
(4 oRIT & Fad

[Question ID = 3397][Question Description = Q43_Criminology_SHAAN_2Z0NOV21_51_5Shift1]
1. 1 [Option ID = 13051]
2. 2 [Option ID = 13052]
3, 3 [Option ID = 13053]
4. 4 [Option ID = 13054)

4) Which among the following is not the technique adopted in computer crime?
(1) The Trojan horse (2) The Salami slice

(3) Impersonation (4) Extortion

FFYE IOy H ftstiora # et 3 wfafer a6t srens smer §2
O o g @) e o

3 Oy FUEROT (4) <eTd FqFOT
[Question ID = 3398][Question Description = Q44_Criminology_SHAAN_20NOV21_51_5Shift1]

1. 1 [Option ID = 13055]
| 2. 2 [Option ID = 13056]

prepp
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4. 4 [Option ID = 13058]

%) Which one among the following does not come within the purview of Criminology?
(1) Itology of crime  (2) Extent of crime

(3) Nature of crime (4) Use of ballistics

forstifea 3 O FOT 3IRIUART & 3iddd el 37T 87
(1) 339 gg QAT (2) 3Ry o asiRar

]

(3)  3rauer i ypfd 4) v & 39T

[Question ID = 3399][Question Description = Q45_Criminology_SHAAN_20NOV21_S1_5Shift1]
1. 1 [Option ID = 13059
2. 2 [Option ID = 13060)
3. 3 [Option ID = 13061)
4. 4 [Option ID = 13062]

6) In defining Criminology who among the following stated that "Criminology is a body of Knowledge regarding crime as a
social phenomenon. It incluses within its scope the process of making laws, of breaking laws ,and of reaction towards
breaking of laws™?

(1) Shaw and McKay (2) Sutherland and Cressey

(3) Akers and Sellers (4) Cornish and Clarke

mmma#qﬁaﬁamgvfﬁmiﬁ:aﬁﬁﬁ;ﬁiﬁmmﬁ:" HETAET OF
AHATTSIS IREeeT & T & 3R & a7 AT o OEr §. 50& ax & fafafmaor | afa &
Jooiad &1 ufkar 3N B &7 Seoaa = 9 @i e wiafear afae &

(1) of 3R &=F @ TeIds IR FA
(3)  TEwT 3 AeRy (4) wfeter 3t FoE

[Question ID = 3400][Question Description = Q46_Criminology_SHAAN_20NOV21_S1_Shift1]
1. 1 [Option ID = 13063]
2. 2 [Option ID = 13064]
3. 3 [Option ID = 13065]
4, 4 [Option ID = 13066]

7) Who among the following first introduced the "Crime prevention strategy through Environmental Design'?
(1) Raffaele Garofalo (2) Cesare Lombroso

(3) Emile Durkhiem (4) C.Ray Jefferey

frefad J @ Goael TOUaA " W0iT 3feeT & Argd ¥ 3R FaRe s

FHod:eug &r o7
(1)  Torer Ihelr Q) e sy
3 iR gfaw @ WY =%

[Question ID = 3401][Question Description = Q47_Criminology_SHAAN_20NOV21_S1_Shift1]
1. 1 [Option ID = 13067
2. 2 [Option ID = 13068)
3. 3 [Option ID = 13069]
4. 4 [Opticn ID = 13070]

8) Who among the following exponent studied the family of "Jukes’ to corelate inheredity and criminality as cause of crime?

(1) Edwin H Sutherland (2) Emile Durkheim
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(3) Richard Dugdale (4) Robert Agnew
fietifhd & ¥ TR 9fducEd o 3R & FROT & §9 & E@idedr dR g S & 9%
W T A & v "sga" & IRaN &1 e Thar oan?
() wsied T gelels (2) Ui g

® f=s wEa @ U WY

[Question ID = 3402][Question Description = Q48_Criminology_SHAAN_20NOV21_51_5Shift1]
1. 1 [Optien ID = 13071]
2. 2 [Option ID = 13072]
3. 3 [Optien ID = 13073]
4. 4 [Option ID = 13074]

9) In India, the first women jail was established in:
(1) Tumkur in Karnataka  (2) Yarwada in Maharashtra

(3) Chennai in Tamil Nadu (4) Lucknow in Uttar Pradesh

AR A gy Afgell sERIE . LA S 1S

(1)  FicH & g H (2) HGRISE & JLaal H
(3) AfAdEs & Aeets A (4) FcR YRl & e S A

[Question ID = 3403][Question Description = Q49_Criminology_SHAAN_20NOV21_S1_Shift1]
1. 1

[Option ID = 13075]
2. 2

[Option ID = 13076]
3.3

[Option ID = 13077]
4. 4

[Option ID = 13078]
10) Who among the following was associated with the Constitutional theory of Criminology?
(1) Raffaele Garofalo (2) Cesar Lombroso

(3) Cesare Beccaria (4) Ernst Kretschmar

ffaiaad @ Sl JIRrerT & gdufas R@ga @ ggafea 97

(1) T SWhar (2 R dErar
(3)  HISK SowIEn 4) 3FtEchoeY

[Question ID = 3404][Question Description = Q50_Criminology_SHAAN_20NOV21_S1_Shift1]
. 1 [Option ID = 13079]
2 [Option ID = 13080]
. 3 [Option ID = 13081]
4 [Option ID = 13082]

bl B
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11) According to Prison Statistics 2019, which among the following has the highest number of Central Prisons in India?

(1) Bihar  (2) Delhi

(3) Karnataka (4) Tamil Nadu

9éRE & Gaffiday 2019 & Hieh3 & TR AR A AT SRETRT H Gai&d qear #gi §?
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(1) fSER @ oo
(3)  Feilch @) affeeTs

B

[Question ID = 3405][Question Description = Q51_Criminology_SHAAN_20NOV21_S1_Shift1]
1. 1 [Option ID = 13083]
2. 2 [Option ID = 13084]
3. 3 [Option ID = 13085]
4. 4 [Option ID = 13086]

12) Who is the author of the treatise, The Medical Jurisprudence of Insanity?
(1) Charles Goring (2) Cesare Lombroso

(3) Isaac Ray (4) Gabriel Tarde

fe Ao ARTIST 31 U AHF Mer yaer & olgs Hla 82

(1) =y aARer (2) e sliFsial
(38) HSAS Y @ AT RS

[Question ID = 3406][Question Description = Q52_Criminology_SHAAN_20NOV21_51_5Shift1]
1. 1 [Optien ID = 13087]
2. 2 [Optien ID = 13088]
3. 3 [Option ID = 13089]
4. 4 [Option ID = 13090]

13) Release of an offender by the Court of law after due admonition, is known as :
(1) Parole (2) Furlough

(3) Remission (4) Probation

THIH AT & 9l AR eart TRl sl € Rers &t &ar &g <irar g2

H Ra @ el
(3 d9RER (4) gRder

[Question ID = 3407][Question Description = Q53_Criminclogy_SHAAN_Z0NOV21_51_5Shift1]
. 1 [Option ID = 13091]
. 2 [Option ID = 13092]
. 3 [Option ID = 13093]
4 [Option ID = 13094]

oWk B o=
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14) Who among the following used the terms “outer containment” and “inner containment” to explain crime causation?

(1) Raffaele Garofalo (2) Walter Reckless

(3) David Matza (4) Cesare Beccaria

e § & egle 3 sl e e & carear =@ & P "9 g 3 "

3ed: TR el & wer fRar ar?

(1)  Tryer Rdvar (2) aFer Y@od
8 3fas \ear (4) dHeT dFRiEr

[Question ID = 3408][Question Description = Q54_Criminclogy_SHAAN_2Z0NOV21_51_5Shift1]
1. 1 [Option ID = 13095]
2. 2 [Option ID = 13096]
3, 3 [Option ID = 13097]
4. 4 [Option ID = 13098]
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15) According to Juvenile Justice (Care and Protection) Act 2015, which one among the following category ¢HchiRiresoaral Exams Guide
not covered as ‘children in need of care and protection’?

(1) Incorrigible children (2} Children in conflict with law

(3) uncontrollable children (4) orphan children

Rl =g ( d@@ 3R e ARATA, 2015 & IgER mfi@a & 4 e Ao &
Tl B " EW 3R GWIOT & v 3N are” & Al 7 enfEer agt e ar &
(1) o oA F GuR A A S @ §
2) fater & sagear s 9 9
(3)  ToleT drert &l AT AgT fhar a1 gehar §
(4) 3T ST
[Question ID = 3409][Question Description = Q55_Criminology_SHAAN_2Z0NOV21_51_5Shift1]
. 1 [Option ID = 13099]
. 2 [Dption ID = 13100]

1
2
3. 3 [Option ID = 13101]
4. 4 [Option ID = 13102]

16) Who is the author of the book, Crime Control in Capitalist Society?
(1) William Bonger (2) Charles Goring

(3) Charles Dickens (4) Richard Quinney

"SHISH helel 5ol Hiuefare A" dEs Yede & dEh Hid 67

(1) ffews dr (2) rew MET
(8) ey Bdew (4) R=s Gaer

[Question ID = 3410][Question Description = Q56_Criminclogy_ SHAAN_20NOV21_51_5Shift1]
1. 1 [Option ID = 13103]
2. 2 [Option ID = 13104]
3. 3 [Option ID = 13105]
4. 4 [Option ID = 13106)

17) According to Juvenile Justice (Care and Protection) Act 2015, the juvenile in conflict with law above the age of 16
years, during the police enquiry and adjudicating proceedings will be sent to

(1) Community services (2) Special home

(3) Place of safety (4) Observation home

fRit 7 ( dwx@ A dwaor ) sfafETd L 2015 & IR 16 @Y ¥ 3 g F Ak
oegrer gfera &1 yoars 3R =g afaoie & FrRERr & ger fBfe a1 seaaer R ¢ 559

Fpl Jo SAREM
(1) SRS Jar 7 @ v g d
(3) O A (4) 9&ToT I H

[Question ID = 3411][Question Description = Q57_Criminology_SHAAMN_20NOV21_51_Shift1]
1. 1 [Option ID = 13107]
2. 2 [Option ID = 13108]
3. 3 [Option ID = 13109]
4. 4 [Option ID = 13110]

18) If a hangman who hangs the prisoner in pursuant to the order of the court is exempted from the criminal liability by
virtue of:

(1) Section 79 of Indian Penal Code (2) Section 78 of Indian Penal Code

(3) Section 77 of Indian Penal Code (4} Section 76 of Indian Penal Code
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AT IS BT S ATl FHS AR & G &+ HeRer A fFly 4§ 1 wildy gar § o 39
frfafad F @ fFFod 3R W TR e ¥ o Ied @

(1) ¥R &SHigdr & 4 79

(2)  FIRAT ESHIgar &I arr 78

(3)  HRNY &sdfgdr $I g 77

(4)  HRANY Esyigdr $I g 76

[Question ID = 3412][Question Description = Q58_Criminclogy_SHAAN_Z0NOV21_51_5Shift1]
. 1 [Option ID = 13111]
. 2 [Dption ID = 13112]
. 3 [Option ID = 13113]
4 [Option ID = 13114]

oL B

19) According to Juvenile Justice (Care and Protection) Act 2015, which one among the following is not suggested as a
measure for the rehabilitation and reintegration of the juveniles/children?

(1) Government Hostel (2) Adoption

(3) Sponsorship (4) Foster care

fomit =g ( q@v@ 3 GeTer ) A, 2015 & AR RN/ Jee & geare 3R
JeT: Uil & o frtiafala & @ fa sura &1 ggia g fear siar g2

(1)  TIPHT SETEN

(2) GGG
(3) et

(4) 9ol 9T Heaerll qEld
[Question ID = 3413][Question Description = Q59_Criminology_SHAAMN_20NOV21_51_5Shift1]
. 1 [Optien ID = 13115]
. 2 [Optien ID = 13116]

1
2
3. 3 [Option ID = 13117]
4. 4 [Option ID = 13118]

20) In D,K,Basu case the supreme court of India has laid down guidelines regarding:
(1) Child rights (2) Women rights

(3) Arrest by police (4) Rape victims

9 & T AG A ARd & 3o9aH AR of fied # & e av 7 e ke ifa
faar g2

1) 9 3PER

(2) Afgensit & FEOFR

(3 e Z@RT FREART

(4 e ffFar fr difsar

[Question ID = 3414][Question Description = Q60_Criminclogy_ SHAAN_Z0NOV21_51_5Shift1]
. 1 [Option ID = 13119]
. 2 [Dption ID = 13120]
. 3 [Option ID = 13121]
4 [Option ID = 13122]

oL B2

21) In which of the following Report Law Commission of India has devoted a chapter on Victimology?
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(1) In 153rd law commission report (2} In 154th law commission report

(3) In 155th law commission report (4} In 156th law commission report

frfaf@a & @ fF RO 37 s Y smer o AfEaRT w=ifta seaga & I & @
ARy f&ar I=ar g7

(1)  Tafdr 3maer &1 153 ar 9fddce

(2) Tafd 3T @ 154 ar giaded

(3  fafer amaer #1155 a1 wfddes

(4  Tafer smer #1156 ar gfdags

[Question ID = 3415][Question Description = Q61_Criminology_SHAAN_20NOV21_S1_Shift1]
1. 1 [Option ID = 13123]
2. 2 [Option ID = 13124)
3. 3 [Option ID = 13125)
4. 4 [Option ID = 13126]

22) Among the following, which one is not the Random sample?
(1) Cluster sample (2) Quota sample

(3) Systematic sample (4) Stratified sample

fefafaa & & &= affde afagy a8 §2

1) T gfagd
(2) @ ufaedy
3 Gegalewa ufdgel

¢4 Taliea gy

[Question ID = 3416][Question Description = Q62_Criminology_SHAAN_20NOV21_S1_Shift1]
1. 1 [Option ID = 13127]
2. 2 [Option ID = 13128]
3. 3 [Option ID = 13129]
4. 4 [Option ID = 13130]

23) Raffaele Garofalo mentioned which of the two following basic sentiments to define crime?
A. Sin

B. Pity

C. Vice

D. Probity

Choose the correct answer from the options given below:

(1yAandConly (2)B and C only

(3) Band Donly (4) A and D only

TERIe IRl ¥ 19T B INART T F folv Ar=foia 7 § et & Jona smaanst &
oo far g°

1 9
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(2)
(3)
(4)

A v v fawedl A @ T 3} ool ¢

1)
(2)
(3)
(4)

[Question ID = 3417][Question Description = Q63_Criminology_SHAAN_20NOV21_S1_Shift1]

ol
ey
SHEAGIY

del AR C
aaer B3R C
&act B3k D
FaeT AR D

1. 1 [Option ID = 13131]
2. 2 [Option ID = 13132]
3. 3 [Option ID = 13133]
4. 4 [Option ID = 13134]

24) Who among the two are associated with 'Pyschological Determinism’ in explaination of crime?

A. Charles Goring

B. Isaac Ray

C. Henry H. Goddard

D. Edwin H. Sutherland

Choose the correct answer from the options given below;

(1) Aand Conly (2)B and C only

(3) Band Donly (4) A and D only

r=faf@a & & sl O o) fFg vy & sarer 7 " madafas vwae” O gads 87

A 9red MidaEr

B. ISeTEH ¥

C. Tl g g

D. usfad va geels

e QU 710 et # & TEY Ica¥ o ¢
(1) aer A3 C

(2) &a« B3k C

(3) &aa B3R D

(4 Fad A3RD

[Question ID = 3418][Question Description = Q64_Criminology_SHAAN_20NOV21_51_5Shift1]

1.1

[Option ID = 13135]

| @2

prepp
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[Option ID = 13136]
3, 3

[Option ID = 13137]
4. 4

[Option ID = 13138)]
25) Which among the following philosophers' writings had influence on Cesare Beccaria's Treatise?
A. Montesquieu
B. Hume
C. Rousseau
D. Darwin
Choose the correct answer from the options given below:
(hAand Donly (2)B, Cand D only

(3)A,Band D only (4) A, Band C only

HoR SaHTE # ey Reafaf@a #§ 4 e it & awa & wnfaa ar

A HEHFY
B. ©gH

C.  wEr

D. sifda

A R o fawedt F ¥ T SR o
1) Faa AIRD

(2) ae B,C3R D

(3 Hae A B3R D

@ haw A BaR C

[Question ID = 3419][Question Description = Q65_Criminology_SHAAN_20NOV21_51_Shift1]
. 1 [Option ID = 13139]
2 [Option ID = 13140]
3 [Option ID = 13141]
. 4 [Optien ID = 13142]

oW =

26)
Which among the following are associated with Hirchi's Social Bonds that promote
socialization and conformity?

A Attachment

B. Commitment
C. Involvement
D. Belief

Choose the correct answer from the options given below:

(1) Only A 1s correct
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(2) Only A and B are correct
(3) Only A. B and C are correct
{4) Only A, B. C and D are correct

fodlf FramEole due @& oEd aEeier AR ETdr ® Sear Gar T € @

foraifra & & Fla ¥ dcT OgIs &

(a) maRFa

B wfdgear

(C)  dfercaar

(D)  HeIdr

A R 71T et F T8 3R W
(1)  Fal AT &

() Sad AR BaTHE
3 FadABRCcEANE
@ ABCIRDENE

[Question ID = 3420][Question Description = Q66_Criminology_SHAAN_20NOV21_51_Shift1]
1. 1

[Option ID = 13143]
2. 2

[Option ID = 13144]
3. 3

[Option ID = 13145]
4. 4
[Option ID = 13146]
27) Among the following, indicate the correct steps in scientific research?
A, Gathering and Analysing the data
B. Formulating the research design
C. Interpreting the results
D. Choosing the research problem and Stating the hypotheses
Choose the correct answer from the options given below:

(1YA,B,CandDeonly (2)B,C, Dand A only

(3)D,B,Aand Conly (4)C, D, B and A only
fafafEa 7 & derfae o & @1 RO & 3fta fiEe
A Eeagagor AR favewor
B. AT AAFeT & viduc

e GG & fed<ed

™ atreT £ TOEAT =T TITLT Y OaaeOaT 3T T
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A 8T T faFedt H § Hal Ical & o9 T ;
() &ae AB,C3R D
(2) &aer B,C.D3k A
(3 @aer D, B, AR C

(4) haer C,D.B3ilt A

[Question ID = 3421][Question Description = Q67_Criminclogy_SHAAN_Z0NOV21_51_5Shift1]
1. 1 [Option ID = 13147]
2. 2 [Option ID = 13148]
3. 3 [Option ID = 13149]
4, 4 [Option ID = 13150]

28) Which among the following is associated with 'lex talionis™
A Admonition or warning
B. Eve for an eve

C. Remonstrance

D. Tooth for a tooth

Choose the correct answer from the options given below:
(1) A and B only
(2) C and D only
(3) B and D only
(4) D and A only

Artf@ad 7 @ @7 giavy fafe @ agag &7

A ddiEen

B. U% 3@ & v & 3@
c. yfdarg

D. SR & o

AT 6T 1T fahodr F A T&r Scal & Il HifolT ;
(1) Faef A3 B
2y g C3l D
(3) %aa B3RD

(49 daa D3t a

[Question ID = 3422][Question Description = Q68_Criminology_SHAAMN_20NOV21_51_Shift1]
|

[Option ID = 13151]
2, 2

[Option ID = 13152]
3.3
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4. 4

[Option ID = 13154]
29) According to Prison Statistics 2019, which of the following two states reported the highest female occupancy in India?
A. Kerala
B. Uttarakhand
C. Goa
D. Chhattisgarh
Choose the correct answer from the options given below:
(1)Aand B Only (2) A and C Only

(3) Band D Only (4) D and A Only

a¥ 2019&F FNRIR Traeell 3Es & AR fstifea 7 @ B & uslt & Afgen dfer &

AT HAIfE TAG TS &2

A el

B ERSLICES

C aar

D. Sl

AR R are Rwed # § wd 3w o

(1) Fael A3iT B

(2) ad A3k C

(3) Fad B3k D

(4 Faer D3t A
[Question ID = 3423][Question Description = Q69_Criminology_SHAAN_20NOV21_S1_Shift1]
. 1 [Option ID = 13155]
. 2 [Option ID = 13156]

1
2
3. 3 [Option ID = 13157]
4. 4 [Option ID = 13158]

30) Which two from the following are considered as ‘Penal Couple’?
A, The Police

B. The Victim

C. The Prosecutor

D. The Offender

Choose the correct answer from the options given below:

(1YAand Bonly (2) A and C only

(3)Band Donly (4) D and A only

e e Sy i e e W e, n -
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A ufew

B dfsa cafdd

C faiss

D. 3wl

A R aTe Rwedt F ¥ @@ 3R T
() &aear A3RB
(2) Faa A3RC
(3 ae B3R D
4 Faa D3k A

[Question ID = 3424][Question Description = Q70_Criminology_SHAAN_Z0NOV21_51_5hift1]
. 1 [Option ID = 13159]
. 2 [Dption ID = 13160]
. 3 [Option ID = 13161]
4 [Option ID = 13162]

oWk B o

31) Read the following statements about the Supreme Court Directives of 2006 in the Prakash Singh and Others vs. Union
of India and Others case:

A, Each State must constitute a State Security Commission

B. Police officers on operational duties in the field will have a minimum tenure of three years
C. Investigation and law and order functions must be separated

D. National Security Commission be established at the Union Level

Choose the correct answer from the options given below:

(1) B, Cand D only (2} A and C only

(3)A,Cand Donly (4) A, B and C only

ume g 3 3Fg 99\ oIRa O9 3R 359 a5 § =9 O & av 2006 & TSy &
N 7 AFAhd A« & afeT :

A TS I ATaRd: T U JLET AR—NT & A5 ST AigT

B. Hies A FRRA YfeT S & #aaH SRFe diel a¥ &1 glel AIfgT
C. 3w 3k ol caewr Sraalt i F1 g foar Stem e
D. & WHER & T W TS G 3RET H eAq19ar & S

A R e fwedt F ¥ T SR T
() &as B,C3R D

(2) Faa A3k C

(3) Fder A, C3RD

L . -— L% o
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[Question ID = 3425][Question Description = Q71_Criminology_SHAAMN_20NOV21_51_5Shift1]
1 [Option ID = 13163]
2 [Option ID = 13164]
3 [Option ID = 13165]
4 [Option ID = 13166]

o R

32) Read the following statements about the forms and provisions of Punishment and answer accordingly:

A. Flogging as a mode of punishment was abolished in India in 1955

B. Section 53 of the Indian Penal Code provides forfeiture of property as a form of punishment

C. The provisions relating to solitary confinement are contained in Sections 73 and 74 of the Indian Penal Code

D. Abetment of suicide committed by child or insane is punishable with imprisonment for a term not exceeding seven years
under the Indian Penal Code

Choose the correct answer from the options given below:
(1} A, Band Conly (2) A and C only

(3)AandDonly (4) A, B and D only
¢S & 9T 3 3T & 9N H Frataf@d seel @ 9fer 3R dedar 3eat Qfeid

A &3 faud & & A . diear a¥ 1955 # 3caified fear aan

B. 9IRAY ¢3 digar 1 ary 53 #F dufcd & GHUGIOT 1 3UEY §

Cc.  Uaid 9RAY § G 396y ARAY ¢35 Aigar 1 g/l 73 3R 74 # sidfdse §

D. 0 Qrerh ar qietel safFd S@RT IcAGCAT T gSIRUT HIRA He T gqar & ARAT ¢
et & i @ra ¥ @ 39 3EY % & FOEE § gUs- gen

M fow are fawedt #F @ G 3ot ==
(1) @%ad A, B3R C

(2) &ad AR C

(3 Fad AR D

(40 FIT A, BIR D

[Question ID = 3426][Question Description = Q72_Criminology_SHAAN_20NQOV21_S1_5Shift1]
. 1 [Option ID = 13167]
2 [Option ID = 13168]
3 [Option ID = 13169]
4 [Opticn ID = 13170]

oW =

33) Read the following statements about The Juvenile Justice (Care and Protection of Children) Act, 2015;

A, ‘Special home’ means an institution for housing and providing rehabilitative services to children in conflict with law
B. ‘Aftercare’ is meant for those who have left institutional care and yet to complete eighteen years of age

C. Chapter lll of the Act contains provisions for the ‘Juvenile Justice Board’

D. Chapter IV of the Act deals with the ‘Procedure in Relation to Children in Conflict with Law’

Choose the correct answer from the options given below:

(1}A,Band Donly (2} A, C and D only
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iR = ( 9o & @ 3R TeeTon) sfEedElety & IR H Feafafad Fus &t
qfge:

A AW ot & Tty T g aret @ 3man 3R ean i vent ae &
AT v Ter e §

B. 3ca} W@ 7[5 3o1 ekl & faffica § St Seenfoiss dxeemer Y aige 3T 9% § 3R saw
¢ ay &r 3 TG wed foed §

C FaREH & g dad # " Gt =g a3 " el 3udy Jdfdse §

D. fOSRA & g 9x) " Qi gad arer dee & OFeey § uiear " ¥ a=ag §

ol fow v fawedl A § el Iea} ol
(1) &aaT A B3RD (2) aae A C3ikD
(3) haer C3R D (4) ad AR D

[Question ID = 3427][Question Description = Q73_Criminology_SHAAN_20NOV21_51_5Shift1]
1. 1 [Optien ID = 13171]
2. 2 [Option ID = 13172]
3. 3 [Option ID = 13173]
4. 4 [Option ID = 13174)

34) Read the following statements about F.1.R, and answer accordingly:
A, Section 154 of the Cr.P.C, deals with information relating to the commission of a cognizable offence

B. If given orally to an officer in charge of a Police Station, information shall be reduced to writing and be read over to the
informant

C. Such information shall be signed by the police person alone and substance thereof shall be entered in a prescribed book
D. A copy of the information as recorded shall be given free of cost to the informant of the FIR

Choose the correct answer from the options given below:

(1}A,Band Donly (2} A, C and D only

(3) Cand Donly (4} A and D only

o gaen e & TN 7 Hr=fafed Fuat & afer AR GeaaR Seaw s

A G3 YRR G AT arT 154 TR @9 39U & A R S @ wittd gaer @
et §

B.  afg qgfera weeer A el wandy il & worer HAlf@® s9e G Sirar § ar gaen
er TG 9 # N 3R ST G AW A SR T G e

C. 38 g N uer W hael Yferd AR carrgeaer fhar siem s sah yiafee
fafga =& 1 &1 Soah

D. I fAfEd Faer @ uw gic s guen RAl & sfoaen & o safaad
feeress & sy
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(1)  oadel A, B3R D (2) Fad A.CHR D
3 FaaciRkD (4) Fad AIRD

[Question ID = 3428][Question Description = Q74_Criminology_SHAAN_20NOV21_51_Shift1]
1. 1 [Option ID = 13175]
2. 2 [Optien ID = 13176]
3. 3 [Option ID = 13177]
4. 4 [Option ID = 13178]

35) Match List | with List Il

List | lList 1
Acts/Manual/Code Year

A. The Prisons Act |I. 1860
B. The Probation of Offenders Act . 2016
C. The Indian Penal Code (lll. 1894
D. Model Prison Manual |IV. 1958

Choose the correct answer from the options given below:
(1) A-IIl,B-IV,C-1 D=1 (2) A-I,B-l,C-lll, DIV
(3) A<l ,B-IV,C-lll, D-1I (4 A-1,B-I1,C-11, DIV

e T I & A A .

Sl T 11

A, FRER AT T 1860
B. suudr aRdenm sfafaan II. 2016
C. s ¢ Higa digar II1. 1894
D. 3EY FRER HAIATEF IV. 1958

e U 71T et A § T 3eor T
(1) A-III,B-IV.C-I1D-II @2 A-IILB-I.C-IUI., DIV
(3 A-II.B-IV.C-III. D-I 4 AI.B-II.C-II, D-IV

[Question ID = 3429][Question Description = Q75_Criminology_SHAAN_20NQOV21_S1_5hift1]
T

[Option ID = 13179]
2. 2

[Option ID = 13180]
B

[Option ID = 13181]
4, 4

[Option ID = 13182]

36) Which of the following is not true about Parole?

(n Parole is meant for the person who is in the Prison

(2) Parole is granted by the Parole Board

(3) Parole is designed to help the prisoner meet his/her emergent social obligations

(4) Parole is an unconditional release of a Prisoner

e & X 7 Arafaf@a F O ol a1 s Tfl 787 §2

1) RaTafaFRAviNFRIR FE
2 e @S ga Wier &ar Srar §

(3) A0S & 30T I W IR cAehifoih AT Giidcat & 9fcT H FeRIar Seiet el
(4 e @& & Fad R 7
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[Question ID = 3430][Question Description = Q76_Criminology_SHAAN_20NQOV21_S1_5Shift1]
1.

[Option ID = 13183]
3.2

[Option ID = 13184]
a3

[Option ID = 13185]
4, 4

[Option ID = 13186]

37) Match List | with List Il

List | IList 11

Book {Author

A. Probation and Parole: Theory and
Practice

. 5. 5. Srivastava

B. Criminology, Penology and Victimology |ll. Ram Ahuja

Il. Edwin H. Sutherland and

C. Principles of Criminology Donald
R. Cressey
D. Criminoclogy |IV. Howard Abadinsky

Choose the correct answer from the options given below:
(1) A-1,B-11,C-1ll, D-1IV

(2) A-lV,B-1,C-lll, D-1I

(3) A-Il,B-IV,C-1l D-I

(4) A-ll,B-lll,CIV-, D-I

T TR -1 § e S

e I et I
A. WY Us R Ay vz dfdew I W Uy Aardd
B. frfAeiolich, Risitchvg vs ffFeatesh IL T 3T

C. TRigew 3w FhfAaerst I wsf3s o= qetels
D. frfA=esir IV. giars Jrefseaehr

s T are fashedt H & WEl 3cak IfAT

() A-I.B-II.C-TIL D-IV
@ AIVBI,CII. D-II
 AII.B-IV.C-OI DI
(49 A, BII CIV-, D-I

[Question ID = 3431][Question Description = Q77_Criminology_SHAAN_20NOV21_S1_Shift1]
1.1

[Option ID = 13187]
1)

[Option ID = 13188]
3. 3

[Option ID = 13189]
4. 4

[Option ID = 13190]

38) Match List | with List I
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Theory Propounder

A, Culture Conflict Theory I. Albert K. Cohen

B. Labelling Theory Il. Thorsten Sellin

C. Delinquent Subculture Theorylll, Cyril Burt

D. Multiple Factor Theory I¥. Howard Becker

Choose the correct answer from the options given below:
(1) A-1,B-1,C-1l, D-1IV

(2) A-Il,B-IV,C-l, DI

(3) A-IV,B-lIl,C-ll, D-I

(4) A-l,B-lll,C-1Iv, D-1I

T T g -0 e B

T I =i 11
(FeTa) CIGRIGEY
A FoR Floodas =AY 1. 3cdc & TR
B. wafdiar saily II. otel Sidte
C. 3fdlade 99 et LAY 1. fafker &€
D. Fedger haet AR IV. gias I

AR Rw av fawedt 7 @ W Icaw giAvw .
(1) A-II.B-I1,C-II, D-IV
{(2) A-IILB-IV.C-I, D-III
(3 AIV.BII.CJIIO,D-I
1) AI . B-III,.C-IV, D-1II

[Question ID = 3432][Question Description = Q78_Criminology_SHAAN_20NOV21_S1_Shift1]
1. 1

[Option ID = 13191]
2. 2

[Option ID = 13192]
3.3

[Option ID = 13193]
4, 4

[Option ID = 13194]

39) Which of the following statements is incorrect about 5in and Crime?

(1) Sin is religious, whereas Crime is legal proposition

(2) Sin concerns itself with violation of rules of religion, whereas Crime involves breach of Law
(3) Sinner is punished by God, whereas Criminal is punished by State

(4) There is direct injury in case of Sin, whereas it is not in case of Crime

g 3T T & aN F AT F R A el 7 S FiF a1 Faa @@y J8 g7

(O 9 ufdie § Safe R @ Hieell aear §
(2) U9 F Wy 9 F Al & Sooma @ § safE srwrer A [{fYr o sher sraeiea §
(3  urh Fr $ea¥ c@rT &3 fom Sar § SefE e vow @R gfPsa T S §

(4 U9 87 & ol H UcTeT T dPldln Sidfd MWl & JAHo H OO #A6T B
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[Question ID = 3433][Question Description = Q79_Criminology_SHAAN_20NOV21_S1_Shift1]
1.1

[Option ID = 13195]
2,2

[Option ID = 13196]
3.3

[Option ID = 13197]
4. 4

[Option ID = 13198]

40} In the world of Cyber Crime, an unauthorized programme which gains control over another’s system by representing
itself as an authorized programme is known as:

(1) Phishing (2) Spoofing
(3) Stalking (4) Trojan

B HEH Said A IFAiehd Fhd FEA APd sEFA & 0 F T Helid &
3y eafFd & ReeH W 0T 1@r Srdr g, 39 F41 Sgr olidl g7

(1) SectAc a1 Ao & ArGH Q ofEr ar
(2) ST gelr
(3) o &9 T qoT e

(4) ot

[Question ID = 3434][Question Description = Q80_Criminology_SHAAMN_20NOV21_51_5Shift1]
1. 1 [Option ID = 13199]
2. 2 [Optien ID = 13200]
3. 3 [Option ID = 13201]
4. 4 [Option ID = 13202]

41) Read the following statements about the Documentary Evidence under the Indian Evidence Act and answer
accordingly:

A, Primary Evidence means the document itself produced for the inspection of the Court

B. Secondary Evidence means and includes oral accounts of the contents of a document given by certified government
examiner alone

C. Secondary Evidence means and includes copies made from or compared with the original

D. Secondary Evidence means and includes oral accounts of the contents of a document given by some person who has
himself seen it

Choose the correct answer from the options given below:
(1}YA,Band Conly (2} A, Cand D only

(3) Aand Bonly (4) A and C only

AR wew FfafE & dda graash aew & e # fpfai@d suet @ ofer R
ACaR IecR G

A. wrafAe e § FreE & @O & @ s gd gEdEs i §

B. gRA¥E Wed ¥ dder YA [N wlae qarT BT e grardst & siaaed &
Hifas faawor sfna ik afFafea ¢
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D. clads weg § R 39 safda carT U o gEads & AlfEs genelr afana @

sh oo g e e Tag car @
s fqw e fasedt o & |l ek oA ¢
(I 3T AB3kcC @ Faa A C3RD
(3) saol AR B (4) aaer A3l C

[Question ID = 3435][Question Description = Q81_Criminology_SHAAN_20NOV21_S1_Shift1]
1. 1 [Option ID = 13203]
2. 2 [Option ID = 13204]
3. 3 [Option ID = 13205]
4, 4 [Option ID = 13206]

42) Match List | with List |l as per the Prison Statistics India-2019

List | IList I

Number of Jails State/UT

A, Highest Number of Jails I. Tamil Nadu

B. Highest Number of Central Jails Il. Rajasthan

C. Highest Number of District Jails . Delhi

D. Highest Number of Sub Jails IV, Uttar Pradesh

Choose the correct answer from the options given below:
(1) A-1,B-1I,C-1I, D-1V (2) A-IV,B-1,C-lll, D-1
(3) A-IL,B-1v,C-11,D-1 4y A-ILB-IILC-1v¥, D-I

T Targer 11 @ gafea fise

il I = 11
(PRI T TE&n) (U= 99 T=I&1A)
A, FROR $T - T FaEFH I affrees
B. $ERT HREOIRN &I - HEar waifds I1. roree
C. TS SRIER & - G&ar gadifdes ITI. ey
D. 39 FRER $ - T&A gaifts IV. Scavwieer
e fRw a1 faeredi 3 § |8 3cak gfav ¢
1) A-I.B-I.C-III, D-IV 2 A-IVB-IC-II D-1II
@ A-IMLB-IV.C-ILD-I @ A-TLB.-MLC-IV, D-I

[Question ID = 3436][Question Description = Q82_Criminology_SHAAN_20NOV21_S1_Shift1]
1.1

[Option ID = 13207]
2. 2

[Option ID = 13208]
3 3

[Option ID = 13209]
4. 4
[Option ID = 13210]
43) Who was the famous shoemaker of Boston, with whom the origin of Probation in modern times is closely linked?

(1) Alexander Maconochie (2) Ernest Hemmingway

(3) John Augustus (4) Sir Walter Crofton
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(1) oSt HPRi=n (2) 3eiec gfETa
(8) ST IPTEAH (4) WY areeX FIHT

[Question ID = 3437][Question Description = Q83_Criminclogy_ SHAAN_Z0NOV21_51_5Shift1]

1. 1 [Option ID = 13211]
2. 2 [Option ID = 13212]
3, 3 [Option ID = 13213]
4, 4 [Option ID = 13214]

44) Arrange the following Prison Reforms Initiatives in correct chronological sequence:

A. National Expert Committee on Women Prisoners

B. All India Committee on Jail Reforms

C. Jail Administration in India

D. All India Jail Manual Committee

Choose the correct answer from the options given below

(1)
(2)
(3)
(4)

[Question ID = 3438][Question Description = Q84_Criminology_SHAAMN_20NOV21_51_5Shift1]

1.1

A,B,C,D
D,C, B, A
A,C,D, B
C,D,B, A

FRRR YR Grael forafafaa ggel &1 agr seska § J=sv
A wfger S wreedt o fdvw afafa

B. G 9Rdm &R GuR afffa

C. SRT # Siol WRIeT

D. aﬁamaﬂﬂﬁgmaﬁﬁ

Al G 7T fawedl A § T%l Scady T T il :

1) AB.C.D
(2 D,C.B.A
(3 ACDB

(4) C.D.B.A

[Option ID = 13215]

Lk

[Option ID = 13216]

3. 3

[Option ID = 13217]

4, 4

[Option ID = 13218]

prepp
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45) Who among the following classified victims into 13 categories depending on their propensity or risk for victimization?
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(1) Andrew Karman (2) Benjamin Mendelsohn

(3) Marvin Wolfgang {(4) Hans Yon Henting

fAafef@a A § fouad dial & 30+ difsa ga &1 vdfca swar Sifgd & 3R «w®
13 wifeal 3 aefiea fmar 2

() U FAdT Q) AT Hsere
(3)  AfET AewaT @) TF AT &

[Question ID = 3439][Question Description = Q85_Criminology_SHAAN_20NOV21_S1_Shift1]
1. 1

[Option ID = 13219]
7.2

[Option ID = 13220]
3.3

[Option ID = 13221]
4, 4

[Option ID = 13222]
46) The number of crimes per 10,000 population is known as:
(1) Crime Division (2) Crime Indicator

(3) Crime Incidence (4) Crime Rate

9fd 9 goIR safdadl & e 9 @ arel el &Y SEdar & Fgr Sar §

()  F9E & Ased (2) FUIE Ghdd
(3) YT T HIHET (4) 9T & g7

[Question ID = 3440][Question Description = Q86_Criminology_SHAAN_Z0NOV21_51_5hift1]
1. 1

[Option ID = 13223]
2. 2

[Option ID = 13224]
dud

[Option ID = 13225]
4. 4

[Option ID = 13226]

47) The *Broken Windows theory' which states that maintaining and monitoring urban environment helps to create
atmosphere of order, thereby preventing more serious crimes from happening was given by:

(1) Matza and Sykes (2) Cloward and Ohlin

(3) Shaw and Mckay (4) Wilson and Kelling

‘ehet Tasisr AT ' e seaw § F agll gieaRor & Heator 3R sHH IR @ sgaeen
F foIT ararawer & O &1 AT s J§ ggar e § oo wesawy 3R aifae ik
HRTET & HaRoT giar &, U f&gid & afaues Ftq 4 2

()  #Arcem 3R asaq (2) wFehars 3R sifeew
B ik AF (4) Taoue AT Hieaan

[Question ID = 3441][Question Description = Q87_Criminology_SHAAN_20NOV21_S1_Shift1]
1. 1 [Option ID = 13227]
| 2. 2 [Option ID = 13228]
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48) ‘Prisons, Reformatories, Borstal Institutions and other institutions of like nature’ are listed under which of the following

lists in Seventh Schedule of the Indian Constitution?
(1) Union List (2) State List

(3) Concurrent List (4) Residuary List

' FRIIR, GIRIE, dIce GeT AR S g & ey GV IRART Sidwie 1 aradl et
# Prfafed & fra g # I §

1) g T @ T I
(3  wHedl gE @) 3afdse g

[Question ID = 3442][Question Description = Q88_Criminclogy_SHAAN_Z0NOV21_51_5Shift1]

1. 1 [Option ID = 13231]
2. 2 [Option ID = 13232]
3, 3 [Option ID = 13233]
4, 4 [Option ID = 13234]

49) Which of the following were part of the Government’s response to 26/11 Terror attacks in India?

A. Establishing National Investigation Agency (NIA)

B. Creation of New N5G Hubs

C. Creation of National Intelligence Grid (NATGRID)

D. Creation of Elite Anti-Terror Squads (ATS)

Choose the correct answer from the options given below:
(1)B, Cand Donly (2) A and B only

(3)A,Cand Donly (4) A, Band C only

frafaf@a & @ Fla d 26 F@raT, 2011 (26/11) F1 U SR §7A & 30T IH FAS
o1 fgear o ¢

A TS IAYUT Uoldl (Uef 1S Q) & EAT961
B. U U UH il gl & Gold
c. e sefoom s (@efiE) &1 gomt

D.  3eic U8 SR &aE (T TH) F Gored

4 f§u v fawedt 3 @ T SR o
(1) &ad B.C3k D (2) Fae AR B
(3) hadl A.C3R D (4) Fad A. B3I C

[Question ID = 3443][Question Description = Q89_Criminology_SHAAMN_20NOV21_51_5Shift1]

1.

1 [Option ID = 13235]

2. 2 [Option ID = 13236]

3

. 3 [Option ID = 13237]

4. 4 [Option ID = 13238]

50) Which of the following is true about the Classical School of Criminology?

(1) It explained crime in terms of biological determination

(2) It believed that man commits crime due to influence of some external spirit
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(3) It placed reliance on free-will Your Personal Exams Guide

(4) It laid greater emphasis on personality of the offender rather than his criminal act

HYRILTET & URFIRSE Bgid & 9N # FA=ea & § ol O e 8 §2

(1) T gy & sarer IfaE Beggae & geest & &1 ordr o

@ A Wi Agar off & F7ers Tl SET e & 9T & HROT IR FRA A o

(3 =OH Tadd s=oT W SEr & Sar ar

@) A WEF FI N S MUt & Afedca W iU g9 fEJr Smar o

[Question ID = 3444][Question Description = Q90_Criminology_SHAAN_20NOV21_51_Shift1]
fie

[Option ID = 13239]
7.2

[Option ID = 13240]
3. 3

[Option ID = 13241]
4, 4

[Option ID = 13242]

51) The Protection of Women from Domestic Violence Act, 2005 does not include:
(1) Prohibition of Marital Rape

(2) Protection from emotional, physical or economical abuse

(3) Appointment of Protection officers

(4) Prohibition of Trafficking
el B @ #fgen wator sfafaas | 2005 F eafafad 7 @ = anfier 787 §?

0 YaiReE sacHER ey
(2) AEAIcHS, ATARE ar anfds 3cdisa & TRaToT
(@) wwr FEERE & Agied

@ g o uiddy
[Question ID = 3445][Question Description = Q91_Criminology_SHAAN_20NOV21_51_Shift1]
1. 1

[Option ID = 13243]
%2

[Option ID = 13244]
8

[Option ID = 13245]
4, 4

[Option ID = 13246]

52) What is Zero First Information Report (FIR)?

(1) Registration of FIR irrespective of territorial jurisdiction
(2) Registration of FIR in respective jurisdiction

(3) Registration of FIR in selected Police Stations

(4) Registration of FIR in a Rural Police Station

I TUH FIAN RUIE (TF S IR A 32

(1) U% S 3R Usiichd &eell ol §F AR S o 8
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[Question ID = 3446][Question Description = Q92_Criminology_SHAAN_20NOV21_51_Shift1]

1.1

SATRISR & TR Uh 1S AR Gallehd el
Tafd I T # TF 378 3R Uiihd &
areor gfeld VAd A Uh 308 3R Glihd @el

[Option ID = 13247]

2l

[Option ID = 13248]

ai

[Option ID = 13249]

4, 4

[Option ID = 13250]

53) The concept of Positivism in criminological theories was first introduced by:

(1)
(2)
(3)
(4)

Ay e RAgial & gousTaie Y SAUROT & 3RS T4uaH fRaer R ar

0

[Question ID = 3447][Question Description = Q93_Criminology_SHAAN_20NOV21_S1_Shift1]

1.1

@
(3)

@

Cesare Beccaria
Cesare Lombroso
Jeremy Bentham

Frederic M. Thrasher

AT SFRTRAT
TIY AT
SNET S H

s TH I

[Option ID = 13251]

2. 2

[Option ID = 13252]

353

[Option ID = 13253]

4, 4

[Option ID = 13254]
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54) Which among the following criminological theory states that visible sign of crime, anti social behaviour, and civil

disorder create an environment that encourages further crime and disorder including serious crime?

(1)
(2)
(3)
(4)

Arfaf@d & & § &G AR 0T Beid & AR WY, IFHIGE Fegr3iN fafde
eIl & TeIAE Feg iR vy ofga ikt 319 vy 9 cyaTyr F SgEr ¢ 87

(D
2)
(3

43

Control Theory
Broken Windows Theory
Routine Activities Theory

Conflict Theory

fee=or fagia
& fasdr Rigid
sifcas forarrena fara
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[Question ID = 3448][Question Description = Q94_Criminology_SHAAN_20NOV21_S1_Shift1]
1.1

[Option ID = 13255]
2.2

[Option ID = 13256]
3.3

[Option ID = 13257]
4. 4

[Option ID = 13258]

55) Scope of Criminology does not include;

(1) Process of making laws

(2) Breaking Laws

(3) Societal reactions to laws being broken

(4) Comparative Politics
3TUTEr AR dr RTT # Fafef@a 7 & a2 anffier 7481 §?

(1) Pelel dadledl
(2) I ISl
(3) e A S & ufa wEios wiafesar

(4  JolelicA® Teiefd

[Question ID = 3449][Question Description = Q95_Criminclogy_SHAAN_Z0NOV21_51_5Shift1]
s U5 |

[Option ID = 13259]
3ol

[Option ID = 13260]
2

[Option ID = 13261]
4. 4
[Option ID = 13262)]
56) The overall strategy which constitutes the blue print for the collection, measurement and analysis of data is known as:

(1) Statement of Problem (2) Research Design

(3) Hypothesis (4) Research Ethics

3HST & TIUL, A AR faeelwor 39 seffitie oae A FAT WEfd A W & & FEn

Fr § :
(1) AT H HaAA (2) eirer JAfEFT
(3) VRl (4) aer SfAsar

[Question ID = 3450][Question Description = Q96_Criminology_SHAAN_20NOV21_51_5Shift1]
1. 1 [Optien ID = 13263]

2. 2 [Option ID = 13264]

3. 3 [Option ID = 13265]

4. 4 [Option ID = 13266]

57) Which among the following statute defines six types of punishment?

(1) The Code of Criminal Procedure

(2) The Indian Penal Code
(3) The Civil Procedure Code
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(4) The Protection of Human Rights Act Your Personal Exams Guide

fArafaf@a 7 & Fie & 9Rf ¢35 & oF JeRT & gRART & §?

() &5 withar Ofgan (2) 9RdT &s afgar
(3) Tafae wfg=r afar (4) HEAORR TETOT AT

[Question ID = 3451][Question Description = Q97_Criminology_SHAAN_2Z0NOV21_51_5hift1]
1. 1

[Option ID = 13267]
2. 2

[Option ID = 13268]
3 3

[Option ID = 13269]
4. 4

[Option ID = 13270]

58) The release of a imprisonment prisnor after completion of 14 years actual imprisonment 1s

known as
(1) Probation (2) Pre-mature release
(3) Aftercare (4) Community Service

1499 & areafa® Fg qO7 T & 9T G B HFd HEN Fgondl g

1y  9RdiET @) IaERE HiFd
(3) UG (4 AfSTH dar
[Question ID = 3452][Question Description = Q98_Criminology_SHAAN_20NOV21_51_5Shift1]
1. 1
[Option ID = 13271]
2. 2
[Option ID = 13272]
3.2

[Option ID = 13273]
4, 4

[Option ID = 13274]
59) A child stays away from school without permission is known as;
(1) Street child (2) Truant

(3) Vagrant (4) Homeless

AT & 9o facaea & g¥ Wwel arel a1od # ool ¥ F Sl Shidm §

(1) g ses (2) geraader Sl

(3  3aEn @) ¥

[Question ID = 3453][Question Description = Q99_Criminology_SHAAMN_20NOV21_51_5Shift1]
1. 1 [Optien ID = 13275]
2. 2 [Option ID = 13276]
3. 3 [Optien ID = 13277]
4. 4 [Option ID = 13278]

60) Which among the following statute defines victim as 'a person who has suffered any loss or injury caused by reason of
the act or omission for which the accused person has been charged and the expression “victim” includes his or her guardian
or legal heir’?

(1)  The Code of Criminal Procedure
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(3) The Code of Civil Procedure

(4) The Unlawful Activities (Prevention) Act

fAafafaa & 9 ola o afafs a5 Nt =i § & g o 3 o =g § o 39
FI A AT & FROT @ifer e aifd g5 & OwF v iged afdd & 3Rfg fFar srn
¢ 3k " ©ifzg " ug I O Ival 3ue AEETEE rvar B9 scaufasrd afie g0

(1) s fesar gfgar

@ s g3 dfgar

@) Rfaer gk @fgar

(@)  fatufass fhammeny (aren) ifafras

[Question ID = 3454][Question Description = Q100_Criminclogy_SHAAN_20NOV21_51_Shift1]
1. 1

[Option ID = 13279]
7.2

[Option ID = 13280]
3.3

[Option ID = 13281]
4, 4

[Option ID = 13282]

Topic:- GP_Set2_C
1) Read the passage carefully and answer the guestion that follow

India is one of the world’s largest repositories of music, dance, theatre, folk traditions, songs, performing arts, rites and
rituals, paintings and writings that are known, collectively as ‘‘Intangible Cultural Hertiage’’, India’s cultural heritage is a
source of inspiration to people everywhere. India’s century old cultural exchanges with South East Asia continue to inspire
people-to-people relationships. There is a visible impact of the Indian heritage on the scriptures and the way of life of the
people of the Mekong region. There is deep conviction about the Buddhist traits of humility, gentleness, justice and charity.
There are many similarities in languages of the region and Sanskrit. The Panchtantra and Jataka tales are narrated with
great enthusiasm and are part of folklore, The Ramayan culture is visible all across South East Asia,

The common culture binding India with South East Asian Countries apart from Buddhism is the great epic of Ramayana.
Angkor Wat has the great Ramayana Panel depicting the battle between Vanaras and the Asuras. SAARC remains an
important component of India’s cultural diplomacy representing multilateralism and people to people contacts. People to
people exchanges are being promoted amongst the BRICS countries with the BRICS Culture Ministers meetings laying down
the road map for collaboration. Cultural exchanges amongst the Member Nations of the Shanghai Cooperation Organisation is
also being actively promoted in the fields of tourism, education, science, archeology, music, dance and yoga.

India’s soft power status varies with the regions. In South East Asia, Buddhism links India to the people of the region.

In the Indian Ocean countries, Project Mausam (the monsoon) linked the people to common traits. There are several new
links that have emerged - cricket ties with Australia and South Africa represented by Cricket connects exhibitions. The
theoretical framework for the formulation of India’s soft power status is best represented in the Government’s new ideas -
Digital India, Business Promtion, Yoga Diplomacy.

UNESCO has also focused on building Peace through Cultural Diplomacy. The influence of - Mahatma Gandhi. Nelson Mandela
and Martin Luther King Jr around the world, and the popularity of their ideas of harmonious co-existence amongst various
layers of society is considerable,

Frifa e i aley, i F= feg eyl W sw Gt

qra, i@, J, T, Am-ae, i, Fe-wa, saem-agh, e o seea & e %
o TS VST °§ W UF ¢ e WAfHd ¥ W 390 WEHGE @Oea” ® ®9 0 W@ A6 3] a4 e %
=i % few uma i oeplos fome don w0 'k ) 9w A afen gued sfao-gd-fien % owa
Hihla® ACH-YCM. CHI &= i 9901 & 9REiE G5 B Aid el @ 21 BeR S5 S S Gh
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Sfe-ughd v aHna W andE fauea = gra-waE 21 g gd B e sar-fEwan, agan, = i
TAEieral & Ui el e v g e 2

34 & A sl 3 GEpRa 3 S ATy 3| TEaal 3R S T Aifd SeEe @ gael St 3 sl A
R -aliEed w1 teen oi 21 g gléor-ge-ufepn & aumEe denld w0 vae afwiae 2

T 3R SHOT-qd UM % WHIA SEFA-9Y S -HOHd = AN HaF I TIEW 2| ST Al |
TH A TSI TEV-TE 2 SEW S MR IR B gg B O 3| ArF GRdE @eRa® hedid w
TEEYT UTF 3 O SEU4AG T dERER @e B Tied w2 TR FeAm i 5w g3 % 5ot
af=e # g3 § arighee Rk Ry S % o @ g = S % S % ieE-TeE o Teeted
s @ 2) TEE H-oineA AtETEeRE % oeE 3w % e wem, fan, fgm, e, wie, e
ST A F & 5 Feplah AeH-H B i abr e o s 2

IR H TH wre-Fak, @ F WA AT 7 O-gh - dig W YR H SH &9 §
St 21

fos wermriE o # dom wiEeEr (FiEgE) S e ame et 8 iedl 31 98 T oo
SR WY ST 3, A Brke-Gig Sl Seeicrn Ta 9eY eThit % A1y, e WaeH ToHE % g
T T 2| STataid] T AT Tl 87 o Tidi-ieed e 3| YR W T Ake-1eatd & Fmm % gt
T W 9Rd F A0 aR-fefea sem, Sn-waEs o AF-FeAid % 9eEE ¥ gEUs ¥ OH gme
T 2

TR WP FAta & gr wic-Fmior W e S e 2 geem v, Jevm quden iR miEA
T T AER A T % A R W deagy wE-dftrs F Hraemt TEml 6 arsseE
i 27

India’s cultural diplomacy is centered around

(A) Ramayan

(B) Multilateral engagements

(C) Business Promoticon

(D) People to people contacts

Choose the correct answer from the options given below :
(1) (A) and (D) only (2) (A), (C) and (D) only

(3) (B}, {C) and (D) only (4) {B) and (D) only

wra it wrEHfoE FeAla e 2, FFaw
(A) T

(B) wgEala-3TeFY

(C) =AR-HaEd

(D) JafFw T

=t fau ¢ fompeal § @ wEt ST =Rl a9 Hify ;

() =A@ (A) 9 (D)
2) e (A), () FR (D)

T v M S i T

prepp
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[Question ID = 3557][Question Description = Q46_GP_20NOV_S2_SHAAN_Shift2]
1. 1

[Option ID = 13691]
2. 2

[Option ID = 13692]
Fiid

[Option ID = 13693]
4, 4

[Option ID = 13694]
2) Read the passage carefully and answer the question that follow

India is one of the world’s largest repositories of music, dance, theatre, folk traditions, songs, performing arts, rites and
rituals, paintings and writings that are known, collectively as ‘‘Intangible Cultural Hertiage’. India’'s cultural heritage is a
source of inspiration to people everywhere. India’s century old cultural exchanges with South East Asia continue to inspire
people-to-people relationships. There is a visible impact of the Indian heritage on the scriptures and the way of life of the
people of the Mekong region. There is deep conviction about the Buddhist traits of humility, gentleness, justice and charity,
There are many similarities in languages of the region and Sanskrit. The Panchtantra and Jataka tales are narrated with
great enthusiasm and are part of folklore. The Ramayan culture is visible all across South East Asia.

The commeon culture binding India with South East Asian Countries apart from Buddhism is the great epic of Ramayana.
Angkor Wat has the great Ramayana Panel depicting the battle between Vanaras and the Asuras. SAARC remains an
important component of India’s cultural diplomacy representing multilateralism and people to people contacts. People to
people exchanges are being promoted amongst the BRICS countries with the BRICS Culture Ministers meetings laying down
the road map for collaboration, Cultural exchanges amongst the Member Nations of the Shanghai Cooperation Organisation is
also being actively promoted in the fields of tourism, education, science, archeology, music, dance and yoga.

India’s soft power status varies with the regions. In South East Asia, Buddhism links India to the people of the region.

In the Indian Ocean countries, Project Mausam (the monsoon) linkded the people to common traits. There are several new
links that have emerged - cricket ties with Australia and South Africa represented by Cricket connects exhibitions. The
theoretical framework for the formulation of India’s soft power status is best represented in the Government’s new ideas -
Digital India, Business Promtion, Yoga Diplomacy.

UNESCO has also focused on building Peace through Cultural Diplomacy. The influence of - Mahatma Gandhi. Nelson Mandela
and Martin Luther King Jr around the world, and the popularity of their ideas of harmonious co-existence amongst various
layers of society is considerable,

Freifiea e A fe i A9 fw o A v R -

qra, i@, J, T, Am-se, i, Fere-wa, saem-agh, T o aeea & T %
HeE TS WUSHI ¥ ° TF ¢ s wHhd ¥4 W 3190 WEH® MOUea” ® F9 § WE S 2| o e %
<fim % forg wra H wwsles Towg don = w21 wwa F wfen godt sfam-gd-olen % @
ieplad AEE-TEE, SHI SE1 1 AT % gReaies aeeEl B i el o 31 WEE &9 % e R
Sfea-ugfd T aHna W andE fauea = gva-waE 2| g gd B e sar-fEwan, agan, = ik
T % Wi T ST ud 3g fava 2

34 & A sl K Gepa 3 S GEEary 3| TEael S S A Aifd IeEte @ gAel St 3 s A
T -aiiEed 1 e oi 21 g gléor-ge-ufepn & e dentd w0 vae afwiae 2

I 3TN SIm-qd UM % WHI SEFO-949 S -HOHd = AT aF I TIE 2| STHRae Jieat |
TH wEd oS THEN-GTS 2 AW oEd ok g F gg w1 fom 3| Uk WRdE |ientas gl w0
el U 2 Ol SEUeAI U9 dARER @R B TRH1ge A 2| TR FeA 5 e 9 % Seh
af=El #1331 1 avighRiee Fakon BRe S % we f W W A R | % SeE-TEA A o diemntga
e o @ B) T w-oifnem Ao % 9ge 3l % ue wiew, e, fgm, wem, wih, T
A A0 % & § weplah SGH-TH B i wlk wieatsa fom s 2

A 1 WA wre-fEaf, @ F WA - B Em-JE-ueE ¥ #ig BEHd YR B SH &4 °

'\'ﬁél
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SO TP 2T 3, A1 Beke-Tia W sl wa ue eThie % i, Thehe Waem SeenEl % g

T T 3| St % TETH T 27 %1 Ao Al 21 WA F1 TE Ahe-fedta & R & S

T W 9Rd F U faR-fefea $em, smn-waes o AF-geAi] % 9eEn ¥ wEUE T OH gme

T 2

TAH J AReFTs Fedita & g1 mi-Fei e Hfea Fen 21 aerem T, Yevm Aoden i misy
TR T gFeR A T % fAfm w W e r-afta ¥ Rveentt Rew et
Tt 27

The common thread binding India and South East Asian Countries is/are
(A) Buddist tenets

(B) Yoga

(C) Cricket

(D} Ramavyan

(E) Sanskrit

Choose the correct answer from the options given below :

(1) (A) only  (2) (A), (B}, (C) and (D) only

(3) (A} and (D) only  (4) (A), (B}, (D) and (E) only
YR UF AO-gE- U % me - -eee 2
&) wigEa

-

(B) =M

(C) Tk

D) TEm

(E) weFd

= fau T forerel A ® TE SR W T AT

1 Q) (2) = (A). (B), (C) 3R (D)
(3)  FE (A) 3R (D) @) A (A), (B) I (E)

[Question ID = 3558][Question Description = Q47_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13695]
2. 2 [Option ID = 13696]
3. 3 [Option ID = 13697
4. 4 [Option ID = 13698]

3) Read the passage carefully and answer the question that follow

India is one of the world’s largest repositories of music, dance, theatre, folk traditions, songs, performing arts, rites and
rituals, paintings and writings that are known, collectively as ‘‘Intangible Cultural Hertiage’’. India’s cultural heritage is a
source of inspiration to people everywhere. India’s century old cultural exchanges with South East Asia continue to inspire
people-to-people relationships. There is a visible impact of the Indian heritage on the scriptures and the way of life of the
people of the Mekong region. There is deep conviction about the Buddhist traits of humility, gentleness, justice and charity.
There are many similarities in languages of the region and Sanskrit, The Panchtantra and Jataka tales are narrated with
great enthusiasm and are part of folklore. The Ramayan culture is visible all across South East Asia.

The common culture binding India with South East Asian Countries apart from Buddhism is the great epic of Ramayana.,
Angkor Wat has the great Ramayana Panel depicting the battle between Vanaras and the Asuras. SAARC remains an
important component of India’s cultural diplomacy representing multilateralism and people to people contacts, People to
people exchanges are being promoted amongst the BRICS countries with the BRICS Culture Ministers meetings laying down
the road map for collaboration. Cultural exchanges amongst the Member Nations of the Shanghai Cooperation Organisation is
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India’s soft power status varies with the regions. In South East Asia, Buddhism links India to the people of the region.

In the Indian Ocean countries, Project Mausam (the monsoon) linkded the people to common traits. There are several new
links that have emerged - cricket ties with Australia and South Africa represented by Cricket connects exhibitions. The
theoretical framework for the formulation of India’s soft power status is best represented in the Government’s new ideas -
Digital India, Business Promtion, Yoga Diplomacy.

UNESCO has also focused on building Peace through Cultural Diplomacy. The influence of - Mahatma Gandhi, Nelson Mandela
and Martin Luther King Jr around the world, and the popularity of their ideas of harmonious co-existence amongst various
layers of society is considerable,

Frifa e i aley, i F= feg eyl W sw Gt

qra, i@, J, T, Am-ae, i, Fe-wa, saem-agh, e o seea & e %
TeE TS WUSHI § ° TF ¢ s wHthd 4 W o790 WEH® MOEa” ® ®9 8 WE T 2| o e %
=i % few uma i oeplos fome don w0 'k ) 9w A afen gued sfao-gd-fien % owa
HEFF AEHE-YEH, GHI &Et $1 SHaT ® aReie weet # AiE et @ 21w 89 % arn A
SlER-ugld vE wHndl W AR e i gra-waE 2| siig o B feRa -t wgan, S s
SrEfierdt & uid Tl e ue ge A

3q %9 i Wl S oG 3 S GREa, 8| Taae SR SE wa Afd Seare 9 gael S 3 o A
wTeh-aTiEed w1 e oi 21 g gléor-ge-ufepn A e dentd w1 vae afwiae 2

IR 3R SHm-qd TR % WHIA FEFA-9Y9 S -HOHid = AT Har I T 2| STare At |
TH g w3 TGS 2 W ol oK TR F g W O 3| AT URdE "iehas hedi W
AU T 2 T AEHEAIG Td ARhR A0 W T il 3| TR WEAm 5 e <E % Wt
af=E #i SR 4 grgREe FaRe PR S 9T B @1d A9 R Al % E-SeE 0t Jemiea
TR =1 T B WETE Hi-SATEE ATHSeRE % wE <l b el W, e, fagm, g, g, e
3 = % g ° weplas SeH-ugH ® i wbka viegrga foan s 2
A WA we-Eaf, @ F WY -3 B Em-gH-ueE § dig §EHd YR P SH &9 °
St 2|
fog werr 2ol # wem e (FEga) S o auen Remaet @ ded 21 9 AU gore-ga
Wwﬁm%,am%—ﬁﬁﬁm@%mﬁwam%ma 15 T e ot e O e
T T 3| STl i WA Al 27 1 (il T 3] R T T 0Re ﬁmmﬁwméﬂm
m%mm%mhan-%%mg%m,mm-waﬁtm—@ﬁ%aaw 98 4 H oI

TACH! | UREFa® FAa F g WP W erE Haa e 21 wewem v, mmweﬁtnﬁq
TR N AR A T % A R W deegy wE-dftre ¥ Oraemt TEml 6 arsseEmn

27

%3

Which of the following is not reflective of India’s soft power status?
(1) Digital India (2) Skill India

(3) Business Promotion (4) Yoga Diplomacy
frafafaa @ 9 %A ywa i 7g afe-ef = ek 7= w27
(1)  fefes gfem (2) e HRd
(3)  SIE-gaHA (4) aA-meifa
[Question ID = 3559][Question Description = Q48_GP_20N0V_S52_ SHAAN_Shift2]
1 [Option ID = 13699]
2. 2 [Option ID = 13700]

3. 3 [Option ID = 13701]
4, 4 [Option ID = 13702]

4) Read the passage carefully and answer the question that follow

India is one of the world’s largest repositories of music, dance, theatre, folk traditions, songs, performing arts, rites and
rituals, paintings and writings that are known, collectively as ‘‘Intangible Cultural Hertiage’’, India’s cultural heritage is a



WWW.prepp.in

prepp

source of inspiration to people everywhere. India’s century old cultural exchanges with South East Asia contilfoelt®énvseineil Exams Guide
people-to-people relationships. There is a visible impact of the Indian heritage on the scriptures and the way of life of the

people of the Mekong region. There is deep conviction about the Buddhist traits of humility, gentleness, justice and charity.

There are many similarities in languages of the region and Sanskrit. The Panchtantra and Jataka tales are narrated with

great enthusiasm and are part of folklore. The Ramayan culture is visible all across South East Asia.

The common culture binding India with South East Asian Countries apart from Buddhism is the great epic of Ramayana,
Angkor Wat has the great Ramayana Panel depicting the battle between Vanaras and the Asuras. SAARC remains an
important component of India’s cultural diplomacy representing multilateralism and people to people contacts. People to
people exchanges are being promoted amongst the BRICS countries with the BRICS Culture Ministers meetings laying down
the road map for collaboration. Cultural exchanges amongst the Member Nations of the Shanghai Cooperation Organisation is
also being actively promoted in the fields of tourism, education, science, archeology, music, dance and yoga.

India’s soft power status varies with the regions. In South East Asia, Buddhism links India to the people of the region.

In the Indian Ocean countries, Project Mausam (the monsoon) linkded the people to common traits. There are several new
links that have emerged - cricket ties with Australia and South Africa represented by Cricket connects exhibitions. The
theoretical framework for the formulation of India’s soft power status is best represented in the Government’s new ideas -
Digital India, Business Promtion, Yoga Diplomacy.

UNESCO has also focused on building Peace through Cultural Diplomacy. The influence of - Mahatma Gandhi. Nelson Mandela
and Martin Luther King Jr around the world, and the popularity of their ideas of harmonious co-existence amongst various
layers of society is considerable,

Frifepa e 1 giew @ik e fen e avAl @ s G

WA, Wi, 04, TeF, AF-TsE, 1a, FereA-won, suem-ugi, TEee o oo & T %
e 98 WUSAI § ® UF 2 e wHhd 1 @ “o1gd O Ouea” ® 9 8 9E S 2| o e %
<im % forw wra H wwsles e don = ww ) v F wfen gl sfm-gd-ole % @
qeFEa® AEFA-NEE, SRt At B S % et e A AfE e o 21w g9 F A
Se-ugfd v aHn W andE fauea w1 wE-waE 2| 9 g9 f e Ter-fEwan, agan, = iR
<refierar & wfa el e ve g T 2

34 & A sl K GEpa 3 S GEEary 3| TEaal S S AT Aifd ScEte @ gAel St 3 ol A
wh-aliEed 1t Wi 21 g gléor-ge-ufopn & e dentd w0 vae afwiae 2

R 3R ZlAv-vd TR % W S-Sy Mg -HOHd % AGIE HaF, I THEW 2| SFERae At |
TH TEd 51 THEV-TS B W oA IR TR F g B AW B W MWAE OERGS Hedid
AUl UTF 2 Ol SEULAG U9 dARER @R B TP R 2] TR FeA 5g e 9 % Seh
oSl it TSR ° grRRrE R TRT STH % WY 2 oY 39 45 % Al ¥ SeE-SEE # o Sieeiea
Fora = @ 2 TEE Hi-ATwEE SAESTE b UgE ol % §e W, Wan, fagm, qidw, e, S
Al A F S § WEFHaF ARE-TEE B i whE wieere o s 2|

IR H TH we-Fal, @ F WA AT 7 SHO-gh - § dig W YR H SH &9 §
St 21

fore werard 2wl # wem ufEieEr (Wga) Sow e Gewael @ wed 21 % A geh-ga
SR WY 3T 3, A GRke-Gig Sl e Ta 91sY eThit % A1y, Bhhe WaeH ToEHE % g
T T 3| STl B T Tl 27 W e A 21 TR 1 T - Teata % FE S Seta
T W 9Rd F A0 faR-fefea e, Sun-waes o AF-FeAid % 9eEE ¥ gEUs ¥ OH gme

T 3

A UREFa® FAla + GRT W<~ W eI Hiaa B 81 Teem v, Sen gosen 3T miea
TR T R A T % A wR W aEn me-afta ¥ Hraemdt TEwl 1 arstem
ooty 27

Cultural exchanges amongst the member nations of the Shanghai Cooperation Organisation are in the following fields :
(A) Archeology

(B) Folklore

(C) Tourism

(D} Yoga

(E) Education
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Choose the correct answer from the options given below :
(1) (A), (C), (D} and (E) only (2) (A), (B}, (C} and (E}) only

(3) (A), (B) and (E) only (4} (B), (C), (D) and (E) only

TS Fl-ATRIA SFTHITSA % TG S 1 WEFTw TEH-gH -6 & 9 87

(4) Fua™
(B) wrw-TE
(C) ¥
(D) =
(E) foen

= fov 7 e o 9 ot I = =3 il
(1) & (A, (C), (D) 3 (E) (2) FFF (A). (B). (C) 31 (E)
8) FEA (A, (B) R (E) 4) =as (B). (C). (D) 3 (E)

[Question ID = 3560][Question Description = Q49_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13703]
2. 2 [Option ID = 13704]
3. 3 [Option ID = 13705]
4. 4 [Option ID = 13706]

5) Read the passage carefully and answer the question that follow

India is one of the world’s largest repositories of music, dance, theatre, folk traditions, songs, performing arts, rites and
rituals, paintings and writings that are known, collectively as ‘‘Intangible Cultural Hertiage’'. India’s cultural heritage is a
source of inspiration to people everywhere. India’s century old cultural exchanges with South East Asia continue to inspire
people-to-people relationships. There is a visible impact of the Indian heritage on the scriptures and the way of life of the
people of the Mekong region. There is deep conviction about the Buddhist traits of humility, gentleness, justice and charity.
There are many similarities in languages of the region and Sanskrit, The Panchtantra and Jataka tales are narrated with
great enthusiasm and are part of folklore. The Ramayan culture is visible all across South East Asia.

The common culture binding India with South East Asian Countries apart from Buddhism is the great epic of Ramayana.
Angkor Wat has the great Ramayana Panel depicting the battle between Vanaras and the Asuras. SAARC remains an
important component of India’s cultural diplomacy representing multilateralism and people to people contacts, People to
people exchanges are being promoted amongst the BRICS countries with the BRICS Culture Ministers meetings laying down
the road map for collaboration. Cultural exchanges amongst the Member Nations of the Shanghai Cooperation Organisation is
also being actively promoted in the fields of tourism, education, science, archeology, music, dance and yoga,

India’s soft power status varies with the regions, In South East Asia, Buddhism links India to the people of the region.

In the Indian Ocean countries, Project Mausam (the monsoon) linkded the people to common traits. There are several new
links that have emerged - cricket ties with Australia and South Africa represented by Cricket connects exhibitions, The
theoretical framework for the formulation of India’s soft power status is best represented in the Government’s new ideas -
Digital India, Business Promtion, Yoga Diplomacy.

UNESCO has also focused on building Peace through Cultural Diplomacy. The influence of - Mahatma Gandhi. Nelson Mandela
and Martin Luther King Jr around the world, and the popularity of their ideas of harmonious co-existence amongst various
layers of society is considerable.

Fifa e i aley, i H= fog eyl w sw Gt

qra, i@, J, T, Am-me, e, Fer-wa, seem-agh, T o aoea & T %
TeE TS WUSHI ¥ ° UF 2 fo wHthd ®1 W o190 WEha® AOea” ® ®9 8 WE e 2| o e %
<fim % forg wwa H wwsles e don = w21 s f wfen godt sfm-gd-olken % @
iEplad AEE-TEE, GHI SE1 1 AT aReaies aeseE B Ui el o 21 R &9 %R e
Se-aghd v aHna W andiE fauea = gra-waE 2| g gd f e ser-fEwan, vgan, = ik
TRfieral = Tid el It v g A 2

3q & A1 sl S GEpa § S GEEaTy 3| Taaal 3 S AT AAfd IeEte @ gAel St 3 ol A
T -aiiEed w1 e ofi 21 g gléor-ge-wfepn & e denta w0 vae ufewiae 2
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I STR SIm-qd UM % WHI SEF-9Y9 S -TOHd = AR aF I TIE 2| ST At |
TH wEd oS THEN-TS 2 EW oEd ok g F gg 1 fem 3| U WRdE |ientas weditd w0
AT UCF 2 Ol SEUeAG U9 dARER GEh B TG w2 TR FeA 5 e 9 % Seh
af= #i Az 4 gpiglite fakor e s % @ f ara 1 39 % Sl % AqE-STE o emtsa
o =1 @ 2) e - oA SUAESTE % 9gE ol % we v, e, fwm, o, wiia, e
A A0 % & § weplah SGH-TH B i Bl wieatsa fom s 2

IRa H T we-Fal, & F WA AT 7 SHm-gh - § dig W YR W SH 8§
St 21

foe mermrdE o d dom wiEeEr (FgE) S S o et 9 sigd 21 s e oews-g
I GWY o B, 7 GRee-ofh o aTefemn wa gy evhiem % wy, Tethe WA eeREl % g
T T 2| STataid] i AT Bl 87 o iai-ieed e 3| YT T T ARe-1eatd & Fm % gt
T W 9Rd F AU faR-fSiea e, SmR-waes o AF-FeAiG % 9eEs ¥ gEUs ¥ A gme

3

TEH J UEphrs FeAtfa g wis—Fm ) e g B 21 geem ard, Sewe meden it me
B e Al T % AE W OW Ry ar-afaa § Eveend TEw At

-

-

E

g:’?%l

The passage highlights

(1) The emergence of India as a super power

(2) The role of culture for peace and harmonious relations with other countries
(3) India’s cultural hegemony

(4) India’s relations with BRICS countries

TS 1 T FeA

(1)  YRA =l FeWIRE % &9 § 3157

(2) I = % W i S Wiy T 3y Wi ol g
(3) A F WEHGH FBa

(4)  uRA F g <9 % WA Ty

[Question ID = 3561][Question Description = Q50_GP_20N0V_S2_SHAAN_Shift2]
1. 1 [Option ID = 13707]
2. 2 [Option ID = 13708]
3. 3 [Option ID = 13709]
4, 4 [Option ID = 13710]
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1) Consider the following table that shows the percentage (%) distribution of the number of
Personal Computers (PCs) sold by a dealer from July to December-2019 and ratio between
the number of PCs sold of HP and DELL companies during the same six months. Total
number of PCs sold in all these six months put together is 45000. Based on the data

contained in the table, answer the question

Month-wise Distribution of Sale of PCs

Month Sale of PCs
Percentage (%) Ratio of
Dastribution HP to DELL

July 17% 8:7
August 22% ' 5
September 25% 3.2
October 8% 715
November 12% 7:8
December 16% 7:9
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Freifpa aferssr =1 e o 2 o oo fagear < g0 S 2019 o fRgrex 2019 9% s e Fef g
% farawor <t gfaerar qoar HP it DELL %=ttt % aum sty § faefia it gmoret % ofte =1 s
gz 7 31 g s A e @it Bl sl B e wo 45,000 (Gafee ser) 21 @t 3 i o

ITHE & YN T 9T o1 S| S

fisft st =t wifeEn-fasea = fom
g 3t Tl 1 foa
fereror =T wforrean HP 21t
DELL $
afawraar
BRI 17% 8:7
ST 22% 4:5
AR 25% 3:2
ITFZS 8% 7:5
ECE 12% 7:8
feamm 16% 7:9

prepp

Your Personal Exams Guide

What is the ratio of the number of PCs sold of Company DELL during July to those sold during December of the same

company?
(1) 119 : 145 (2) 116 : 135
(3) 119 : 135 (4) 119 : 130

DELL %0t % gr1 Jam o fursr 4 32 13 Ffs gomst $it g o o o 27

(1)  119: 145
(3 119:135

(2) 116
@) 119

: 135
- 130

[Question ID = 3562][Question Description = Q01_GP_20NOV_52_SHAAN_Shift2]

1. 1 [Option ID = 13711]
2. 2 [Option ID = 13712]
3. 3 [Option ID = 13713]
4, 4 [Option ID = 13714]

2) Consider the following table that shows the percentage (%) distribution of the number of
Personal Computers (PCs) sold by a dealer from July to December-2019 and ratio between
the number of PCs sold of HP and DELL companies during the same six months. Total
number of PCs sold in all these six months put together is 45000. Based on the data

contained in the table, answer the question

Month-wise Dhistribution of Sale of PCs
Month Sale of PCs
Percentage (%) Ratio of
Dastribution HP to DELL

July 17% 8:7
August 22% £
September 25% 3:2
October 8% 7D
November 12% 7:8
December 16% 7:9

Freifpa aifersr =1 e O 2d o ue faghar < g0 e 2019 o fRgrex 2019 9% s e faf o
% forqmor ft ufemraa aon HP 3R DELL =w=afmt = waH 2mafy | fafhia B st % g 1 smua
gorrn T 21 sE sradt A fsfia mdt el smomnl 1 T weEn 45,000 (Yarfam 29R) 21 arfeem | fao

IS = FTYT 9G¥ =51 IT 4

Fi5ft oot = miaE -t

=1 T
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aTH st @Rt = e
o i ufawraar HP 1R
DELL =i
PIGEIREI
STS 17% 8:7
SPTE 929% 4:5
faamr 25% 3:2
STFEE 3% g
AR, 12% 7:8
foursm 16% 7:9

If 35% of the PCs sold by Company HP during November were sold at a discount, then how many PCs of Company HP during
that month were sold without a discount?

(1) 882 (2) 1635

(3) 1638 (4) 885

PR T W HP w9 % 35% el woors g WSS T a3 wee 7 HP wert % fee R s
form = = 9% oY

(1) 882 (2) 1635
(3) 1638 (4) 885

[Question ID = 3563][Question Description = Q02_GP_20NOV_52_SHAAN_Shift2]
1. 1 [Option ID = 13715]
2. 2 [Option ID = 13716]
3. 3 [Option ID = 13717]
4. 4 [Option ID = 13718)

3) Consider the following table that shows the percentage (%) distribution of the number of
Personal Computers (PCs) sold by a dealer from July to December-2019 and ratio between
the number of PCs sold of HP and DELL companies during the same six months, Total
number of PCs sold in all these six months put together 1s 45000. Based on the data
contained in the table, answer the question

Month-wise Distribution of Sale of PCs

Month Sale of PCs
Percentage (%) Ratio of
Distribution HP to DELL

July 17% 8:7
August 22% 4:5
September 25% 912
October 8% 7.5
November 12% el
December 16% 7:9

Freifepa aifersr =1 s o 26 oo ue faghar < 270 S 2019 o fRgrax 2019 9% s ff o
% forqmor <t wfderaar qor HP 3tk DELL +=aft < waH sty 8§ fasfia B st % fta =1 sigam
Fian 7 21 g sradt A ffig wudt ol st B we @ 45,000 (Farfee zeR) 21 arfers | B
ATFS = AT W 9TT B IHW G

Fstt Tt = wifas—Tass = faa

TE st ForRT = e
T = afaeaa HP =it
DELL =i
=
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TS 17% 8:7
ST 929% 4:5
faam=r 25% 3:2
FEH 3% 7:5
AR, 12% 7:8
fommsm 16% 7:9

If the dealer earned a profit of Rs. 433 on each PC sold of Company DELL during October, then what was his total profit
earned on the PCs of that company during the same month?

(1) 6,49,900 (2) 6,45,900

(3) 6,49,400 (4) 6,49,500

IR TgE % o H DELL %ot % fassar o uess Al wors W &, 433 =1 o win Be @ 39 mel
¥ feshar =t foraam @y e ?

(1) ¥ 6.49,900 (2) T6,45,900
(3) ¥ 6,49,400 (4) ¥6,49,500

[Question ID = 3564][Question Description = Q03_GP_20NOV_S2_SHAAN_Shift2]
. 1 [Option ID = 13719
2 [Option 1D = 13720]
. 3 [Option ID = 13721]
. 4 [Opticn ID = 13722]

oW o

4)  Consider the following table that shows the percentage (%) distribution of the number of
Personal Computers (PCs) sold by a dealer from July to December-2019 and ratio between
the number of PCs sold of HP and DELL companies during the same six months. Total
number of PCs sold in all these six months put together is 45000. Based on the data
contained in the table, answer the question

Month-wise Distribution of Sale of PCs
Month Sale of PCs
Percentage (%) Ratio of
Dastribution HP to DELL

July 17% 8:7
August 22% 1.5
September 25% 3:2
October 8% 100
November 12% 7:8
December 16% 7:9

Freifpa afersr =1 e o 2 oo o faghan < g0 S 2019 o fRgrex 2019 9% s e il g
% feraeor it wfewaar @anr HP =it DELL #=f3= % a9 ety § fafia fh anossl % o= =1 s
gerrn n 21 e sraeh J fosfia wdt Fsft sl R g dem 45,000 (Yafag gen) 21 aifersm § 2o e
3THE & YR T 7T T SR S

st TRt =t mifeE-Taws w1 fHaw

Tereror =BT wforrean HP 21t

DELL i

ufawraar

BRI 17% 8:7
ST 22% 4:5
e 25% 3.9
FTFE 8% 7:5
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The number of PCs sold of Company HP during July is approximately what percent (%) of the number of PCs sold of Company
HP during December?
(1) 110% (2) 140%
(3) 150% (4) 130%

s % HEH 8 HP w0t % g a9 e Bt st it g foomn % wdH 8 HP w0 % g ak

Tt Trrovt 1 g w1 e ataeE 27
(1) 110%
(3) 150%

(Z) 140%
(4) 130%

[Question ID = 3565][Question Description = Q04_GP_20NOV_52_SHAAN_Shift2]
1. 1 [Optien ID = 13723]
2. 2 [Option ID = 13724]
3. 3 [Option ID = 13725]
4. 4 [Option ID = 13726]

) Consider the following table that shows the percentage (%) distribution of the number of
Personal Computers (PCs) sold by a dealer from July to December-2019 and ratio between
the number of PCs sold of HP and DELL companies during the same six months. Total
number of PCs sold in all these six months put together is 45000. Based on the data

Freifepa afersr =1 e o 2 o o faghar < g0 S 2019 o fRgrax 2019 9% s Ff g
% feraor <t wiemean @onr HP =it DELL %=t = a9 ety § fafia fi anomssl % <= =1 sque
geran T 31 g st ° g @t Bl sorst B e @eE 45,000 (Garfee seR) 21 @it 3 faw o
IS & YR T ATT H K © -

contained in the table, answer the question

Distybutio of PCs
Month Sale of PCs
Percentage (%) Ratio of
Dastribution HP to DELL

July 17% 8:7
August 22% s
September 25% 3:2
October 8% i
November 12% T8
December 16% 7:9

fistt worRt =t wifEEn-Taws w1 fa

foraror =6 wfcera HP 2t

DELL #i

PIGEIRGI

BRI 17% 8:7
T 22% 4:5
e 25% 3:2
HFH 8% 158
ECET 12% 7:8
femmw 16% 7:9
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What is the total number of PCs sold by Company DELL during August and September together?

(1) 10000 (2) 15000
(3) 10500 (4) 9500

s ud Toerst g1 w2 3 DELL svvai % grT o9 179 et 14l Sorenl 7 g o 27

(1) 10000 (2) 15000

(3) 10500 (4y 9500

[Question ID = 3566][Question Description = Q05_GP_20N0OV_52_SHAAN_Shift2]

1.1

[Option ID = 13727]
2. 2

[Option ID = 13728)]
2

[Option ID = 13729]
4. 4

[Option ID = 13730]

Topic:- GP_Set2_B
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1) In which level of teaching promotion of critical thinking is the hall mark?
(1) Memory level (2) Understanding level
(3) Reflective level (4) Autonomous development level

finequr & e TR T STIeTeFTeTs: Tamad o 3999 i Fa9T TEe Sl 2 7

() R (2) EEY W
(3) fomdi-farm == (4) Tamw oM Tm

[Question ID = 3567][Question Description = Q06_GP_20N0OV_52_SHAAN_Shift2]

. 1 [Option ID = 13731]
. 2 [Dption ID = 13732]
. 3 [Option ID = 13733]
4 [Option ID = 13734]

R

2) The key behaviour of an effective teacher is marked by which of the following features? (A) Structuring (B) Teacher
task orientation (C) Instructional Variety (D) Lesson clarity (E) Probing Choose the correct answer from the options given

below :
(1) (A), (B) and (C)} only (2} (A), (C) and (D) only
(3) (B), (C) and (D) enly (4) (C), (D) and (E) only

FoaPaa TaRrearsit § & = @1 raam woreh Graes 1 s a1 37
(A) T

(B) Them—=m-qaifigiwm

(C) orem fafaea

(D) wE-TrEar

(E) Y=

Arer faw T el § W el SR 1w HiR

(1) = (), (B) R (©)
(2)  FFF (A), (C) R (D)
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(4) & (C), (D) 3T (E)

[Question ID = 3568][Question Description = Q07_GP_20NOV_52_SHAAN_Shift2]
1. 1

[Option ID = 13735]
2. 2

[Option ID = 13736]
3 3

[Option ID = 13737]
4. 4

[Option ID = 13738)]

3) Match List | with List |l gives their characteristic features.

List | List Il

(Modes of Evaluation) (Characteristic Features)

(A) Formative Evaluation (I} Compares one student with another student

(B) Summative Evaluation (lI) Compares the progress of a student against prespecified standards

(C) Criterion-referenced Evaluation (lll) Used primarily for motivational and monitoring purposes of learning
(D) Norm-referenced Evaluation (IV) Used primarily for gradation of progress made

Choose the correct answer from the options given below :

(1) (A)-(1V), (B)-(l11), (C)-(1), (D)-(11)  (2) (A)-(lID), (B)-(IV}, (C)-(11}, (D)-(I}

(3) (A)-(I1), (B)-(1), (C)-(IN), (D)-(IV)  (4) (A)-(1}, (B)-(II), (C)-(IV), (D)-(liI)

g1 % my G-I F1 frem B wom g geai A Rl vghel B 2, of gut g o wife
won 31 gEf-1 wd g1 o faer ol

-1 T=I-11
TeATFA-TgH T -0
(A) TFmiomeas g O  uw faerf f g fenfi @ gom w2
(B) TheHIcHD HoATehA I wr fgeefi H gon g@ Fuifa = @
-l 2|
(C) Tipu wefia weaieA (III) voma: sfrm & Afen od eHEaw %
T
(D) W Hefda gears IV) vema: foww wmfe % defeeor 29 W
T 31

e B 7o freredl 8 @ w0 s @ e Hifve

1) @-AV). B-dID. (O)-(1). (D)-AD
2)  (A-UD. (B)-aV). (C-AD. (D)D)
@)  A)-aDh, B)-@). (O)-d1l). (D)-IV)
@  A-D). B)-AD), (C)-(IV), (D)-dID)

[Question ID = 3569][Question Description = Q08_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13739]
2. 2 [Option ID = 13740]
3. 3 [Option ID = 13741]
4. 4 [Option ID = 13742)

4) Given below are two statements :

Statement | : One of the basic principles of progressive view of teaching is that education should be life itself rather than a
preparation for living,

Statement Il : According to reconstructionist view of education the new social order must be ‘genuinely democratic’.

In the light of the above statements, Choose the correct answer from the options given below :

(1) Both Statement | and Statement |l are true. (2) Both Statement | and Statement Il are false.

(3) Statement | is true but Statement |l is false, (4) Statement | is false but Statement Il is true.

Rasm it

91 (D : Torgror = ot (st ) gfemRmr = o weya fagra 2 Fr fen e stwfifasr
Fa T erfig =z ot e H eyt s B iR

= (1T - oren & wafmoerd fem am % ear =i ot srarn fiives = o yseEites
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BT =T

IRh FYE F A® 1, Fi9 {5y T el § @ adt 3w @ wmm it

(1) =39 () S dD) e 7 8
(2) = (@) 3R (D) A meT 8

(3 W (1) O 2, |t e (1) 39 2

(4) = Q) F=A 2, dfF w5 (D g 2

[Question ID = 3570][Question Description = Q09_GP_20M0V_S2_SHAAN_Shift2]
. 1 [Option ID = 13743]
2 [Option ID = 13744]
. 3 [Option ID = 13745]
. 4 [Option ID = 13746]

P bl B —

5) Given below are two statements ; One is labeled as Assertion A and the other is labeled as Reason R.

Assertion (A) : ‘Teaching’ invelves critical and creative interchanges between teacher and learner and hence it is different
from ‘instruction’ and ‘training’.

Reason (R) : Both ‘instruction’ and ‘training’ are directed at lower order cognitive interchanges.

In the light of the above statements, Choose the most appropriate answer from the options given below :

(1) Both (A) and (R} are correct and (R) is the correct explanation of (A). (2} Both (A) and (R) are correct but (R) is NOT

the correct explanation of (A).
(3) (A) is correct but (R) is not correct. (4) (A) is not correct but (R) is correct.

ﬁ%a}{iﬁgﬁﬁﬁﬂt{%:%ﬁ%%(ﬁsseﬂionA}%Eﬂﬁ%ﬁ@ﬁ%?ﬁ?@ﬁaﬂ%m(ReasonR)%ﬁ

w9 H ;

T (A) e, e @ ofrmdl % Aw wiiueTs @ R [AEm W g
A1 2, 379 T SR uE g ¥ fim 2

F (R) : “IATE T qRE g & AFEETS SRA-UgH % e W W iR gk 2l

IUUTH HUAT h A A, A9 fay e et # @ wew 39 3T o =eA <hifw

(1) Q)R @) A wd § ol R), Q) R =men 3

2 (&) AR R) I T 2, AT R), (A) g =me TE 2

(3 (AT 2, 9 (R) T8 T 2

4) (A TEdFE 2, dfF (R) w8 2
[Question ID = 3571][Question Description = Q10_GP_20NOV_52_SHAAN_Shift2]
. 1 [Option ID = 13747]

. 2 [DOption ID = 13748]

1
2

3. 3 [Option ID = 13749]
4. 4 [Option ID = 13750]

6) In which of the following researches, attempts are made to establish context-free generalizations?
(1) Phenomenology (2) Grounded theory
(3) Symbolic interactionism (4) Experimental Studies

freafafiga wiul f @ frad weeige qfiem 6 s 3 s fee srd 27
(1)  =A-3gI-gara (2) omafa fagro
(3)  udiwRHS IRAER (4) TETIEHF A

[Question ID = 3572][Question Description = Q11_GP_20NOV_52_SHAAN_Shift2]
1. 1 [Option ID = 13751]
2. 2 [Option ID = 13752]
3. 3 [Option ID = 13753]
4, 4 [Option ID = 13754]

7) Identify the main features of ‘qualitative research’ from the following :
(A) It is concerned with understanding the phenomena from the participant’s perspective
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- (B) It assumes that there are social facts with a single objective reality

(C) Researcher becomes immersed in the situation, present or past

(D) Researcher is detached from the study to avoid bias

(E) There is greater flexibility in both the methods and research process
Choose the correct answer from the options given below :

(1) (A), (C) and (E) only (2) (A), (B) and (C) only

(3) (B}, (C) and (D) only (4) (C), (D) and (E) only

At & ol fomtyenet # @ Tonen iy R ggwE w)

&) =g il & aftie § we % ey @ grafag 21

(B) 3ud T WAT ST ® AR asa Fae wE aeghe o § 92 3 B
(© =il adEm a1 yaswfers et 8 fET | T 3

(D) ool qeE ¥ = % foT AT T R | g S A
(B)  sad yonelt o wiu-gfEn gRi 7 e gat 2|

42 fou 7o f=eat O O wE SO W 9 i

1) A Q) (C) ¥R (B)
@ A), B) 3R (O)
(3) = (B), (C) 3R (D)
@ %A« (0). (D) 3R (B)

[Question ID = 3573][Question Description = Q12_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13755]
2. 2 [Option ID = 13756]
3. 3 [Option ID = 13757
4. 4 [Option ID = 13758]

8) Match List | with List Il :

List | List Il

Methods of research  Features emphasized

(A) Experimental (1) Primary and secondary sources tapped with emphasis on internal criticism
(B) ExPost Facto (ll) Status of facts and conditions are ascertained

(C) Descriptive  (lll) A variable is manipulated to see its effect on other variable

(D) Historical (IV) The differences are noted and factors causal or otherwise are determined
Choose the correct answer from the options given below ;

(1) (A)-(1), (B)-(IN), (C)-(IN), (D)-(IV)  (2) (A)-(I1), (B)-(1), (C)-(IV), (D)-(IIN)

(3) (A)-(1l}, (B)-(1V), (C)-(1N), (D)-(1)  (4) (A)-(IV), (B)-(1l}, (C}-(), (D)-(I1)

o=f-I % ary =11 = T it

- TH-IT
e T wet fepand
@) e @) afes G TS &9 g A o
Toft=rs &Il =1 TS B 2
(B) MR A Wiy w@ aon i Tk ghfvsa &
Eic k]
(©) =S (M) g@t =7 T v9E 3E % forg oh = § R-W
ferem v 21
(D) ufzri® AV) fadig %1 w9 @ g ke sEr o=
e GRTEa Fre | 3)
W= f5u o fopei ® @ = S W = i

(1 A-D. B)-(I5). (C)-(IID), (D)-(IV)
2)  AXAD. (B)-1). (O)-IV). (D)-dIL)
(3) (A1), (B)-IV). (O)-D). (D)-(I)
4  (A-IV). B)-I), (C)-(D),. (D)-(II)

prepp
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[Question ID = 3574][Question Description = Q13_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13759]
2. 2 [Option ID = 13760
3. 3 [Option ID = 13761]
4. 4 [Option ID = 13762]

9) Given below are two statements :

Statement | : Data analysis in research being a technical job, ‘research ethics’ does not matter.
Statement Il ; ICT is helpful almost at all stages of research.

In the light of the above statements, Choose the correct answer from the options given below :
(1) Both Statement | and Statement |l are true, (2) Both Statement | and Statement Il are false.
(3) Statement | is true but Statement Il is false. (4) Statement | is false but Statement Il is true.

F (D) : FEYF H Tea-faveiuer ©F qeiehl B EH % BRU CSEYH- SR S
el T 2
%4 (II) : FUHT % T Yol = 4 a1, 4.2 agren g 3

ST FY F e W, A T e fawed ¥ 9 w59 s o 9me it

(1) = (@) 2 JD) 3 g &
2 = (D) 3 J@D) I T E
(3) = () ucA &, il =9 (1) 319eT &

(4) = (I) 39 2, | e (D) §ed ©

[Question ID = 3575][Question Description = Q14_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13763]
2. 2 [Option ID = 13764]
3. 3 [Option ID = 13765]
4. 4 [Option ID = 13766]

10) Given below are two statements : One is labeled as Assertion A and the other is labeled as Reason R,

Assertion (A) : When Null Hypothesis (HOQ) is rejected, researcher’s hypothesis (H1) is accepted.

Reason (R) : Null Hypothesis (HO) is a chance hypothesis and as such (H1) being true, the researcher’s hypothesis lies in the
domain of acceptability.

In the light of the above statements, Choose the most appropriate answer from the options given below :

(1) Both (A) and (R} are correct and (R) is the correct explanation of (A). (2) Both (A) and (R) are correct but (R) is NOT
the correct explanation of (A).

(3) (A) is correct but (R) is not correct. (4) (A) is not correct but (R} is correct,

=t @ e o e 2 : o aIfiruR (Assertion A) % ¥ W faRad ® A 500 3% PR (Reason R)

= F

st (A) - v fmeofia afereu T (T) st = @ ot @ @ sIHEuEhal R afeRe
(w=11) i & Wit 2|

T (R) : i afiwew (T9) ©F T 9ieed T § 3T UH (T9:) W BH F HRO

FAGHFRAl 61 ufeheuAT w=hepfa i afdfy & sn e )
SYUTH YAl b reres 1, A fiw 7w faepedi # § gl S9RE IR o ©EA <hifag

1) (A IR ®R) 39 & 2 3R (R). (A) i gl =en B
@ (&) s (R) A = E, SR R), (A) B wd =E TE 2
(3) (AT E, I R 8 = 2
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@ Q= E R, @R (R) W g

[Question ID = 3576][Question Description = Q15_GP_20N0OV_52_SHAAN_Shift2]
. 1 [Option ID = 13767]
. 2 [Dption ID = 13768]
. 3 [Option ID = 13769]
4 [Option ID = 13770]

oL B2

11) Which of the following is an exclusive example of Non-verbal cue that includes the pitch, rate, volume and use of
pauses?

(1) Linear Model of Communication (2) Interactional Model

(3) Non-Verbal Cues (4) Para-Language

frfrfian 3§ ¥ F7 srrE w90 T o9 SaEw £ R smR-emE (fm), @ (@), T (atem)
s forrm (aifst) =1 v wfis 37

(1) == i qisa (2) wawE Tgid

(3) oY (4 A

[Question ID = 3577][Question Description = Q16_GP_20N0V_S2_ SHAAN_Shift2]
1. 1 [Optien ID = 13771]
2. 2 [Option ID = 13772]
3. 3 [Option ID = 13773]
4. 4 [Option ID = 13774]
12) Given below are two statements : One is labeled as Assertion A and the other is labeled as Reason R,
Assertion (A) : In the context of communication, the perceptual process creates, semantic-noise also called word-noise,
Reason (R) : The various meanings either cannotative or denotative are sources of semantic noise.
In the light of the above statements, Choose the most appropriate answer from the options given below :
(1) Both (A) and (R) are correct and (R) is the correct explanation of (A).
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A).
(3) (A) is correct but (R} is not correct,
(4) (A) is not correct but (R) is correct.
T o1 Y fou T 2 ;v AT (Assertion A) % ¥4 H foiflgd % @1 g@u 3%k ¥RV (Reason R)
A

SR (A) WINN F WY § STAUNUNT UER Tiea® A Scaiea F 2 ol Iiees -1
(T-=amat) = 2

w0 (R) : TN A1 aqae= SH1 = (1= 3191 % G Wees -T2 21

ITE FUA % T 1, 9 By T e § § oes 39w IO W 99 HIe

1) (A) R E®) FF T E i (R). (A) B w@ = 2
(2)  (A) IR (R) AT TH 2, S0 R), (A) i wdl =memn 76 2
(3) (A TA 2, S (R) T T 2

@ Q) EA TR, A ® w2
[Question ID = 3578][Question Description = Q17_GP_20NOV_52_SHAAN_Shift2]
1. 1

[Option ID = 13775]
2. 2

[Option ID = 13776]
3 3

[Option ID = 13777]
4. 4

[Option ID = 13778]

13) Given below are two statements :
Statement | ; Appropriate word choice is an essential of effective oral communication.
Statement Il : Facial expression and postures fall under visual communication.
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In the light of the above statements, Choose the correct answer from the options given below :

(1) Both Statement | and Statement |l are true, (2) Both Statement | and Statement Il are false.
(3) Statement | is true but Statement |l is false. (4) Statement | is false but Statement Il is true.

R sm e
F (D) - Turet w1fees TS 2g WERE WGl 1 9T AT B
w5 1D : tifige ama T Wi gya-gEme % st 2

ITRE A T 7, 919 2 v et § o wdt s wa i

Q) TR @) SR ID I T E
@ = () SR (D) < 21EeT §
(3 M (1) ueA 2, «Afe FoF (1) 39T 2

(4)  =om (1) 39 2, dtehT =a (1D 99 2

[Question ID = 3579][Question Description = Q18_GP_20N0OV_52_SHAAN_Shift2]
1. 1 [Option ID = 13779]
2. 2 [Option ID = 13780]
3, 3 [Option ID = 13781]
4. 4 [Option ID = 13782)

14) ldentify the barriers to communication from the list given below :
(A) Time and distance

(B) By-passed instructions

(C) Encoding of thoughts and ideas

(D) Decoding of thoughts and ideas

(E) Logical sequence

Choose the correct answer from the options given below :

(1) (A) and (B) only (2) (B) and (C) only

(3) {C) and (D) only (4} (D) and (E) only

steitfefian oot & & @ B e B e -
&) = sigd
(B) ufEa e

(C) U wd e =l f2eg w0
(D) @i ug fem = e -ag
(E) aife wm

=t faw e foepeul # @ g TR R 9Ee i

(1) == (A) 3R (B)
(2) & (B) 3 (C)
(3 A (C) 3R (D)
4@ = (D) 3N (B)

[Question ID = 3580][Question Description = Q19_GP_20NOV_S2_SHAAN_Shift2]
1. 1

[Option ID = 13783]
2.3

[Option ID = 13784)]
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[Option ID = 13785]
4, 4

[Option ID = 13786]

15) Match List | with List Il :

List | List Il

Types of Communication Main features

(A) Downward Communication (I) Grows primarily to meet organizational/member’s need for communication
(B) Upward Communication (Il) It forms a useful link in decision making for task coordination

(C) Horizontal Communication (lll) Provides management with feedback about current issues and problems
(D) Grapevine Communication (IV) It is the most common communication system in an organization

Choose the correct answer from the options given below :

(1) (A)-(1), (B)-(I), (C)-(IV), (D)-(NI) ~ (2) (A)-(I1), (B)-1}, (C)-(NI), (D)-(IV)

(3) (A)-(Il1), (B)-(IV), (C)-(), (D)-(11)  (4) (A)-(IV), (B)-(1N1}, (C}-(I1}, (D)-(1)

g1 % = gEi-11 = faem =hifse
i1 11
TEE % THR 7 famman
(A)  sarmHt FHe () H&N % weEE ° womu i SAETEEar H
70 FA % fow vgEm ¥ wem B
(B) sufort At (A1) =ei-gu=E B Fom o4 0w segeh
HIeEH ST 2
(C)y &fas wegam (A1) =awH foroe e amemet i ulegfs &
=@y T 2
(D)  Tq-TTS GEHE (IV) Trdt «ff 9o w1 9% Gd-um= gEigo
T 2
9 fou 7o T °§ © O ST 1 T I

(1)  &-O. B)-D), (CO)-IV), (D)-(1IL)
2 @-dD. B)-D). (O-d1). (D)-AV)
3  @-AD. B)-aV). (O-1). O)-AD
@  (A-IV). B)-I), (C)-(1I), D)-(D

[Question ID = 3581][Question Description = Q20_GP_20NOV_52_SHAAN_Shift2]
1. 1 [Option ID = 13787]
2. 2 [Option ID = 13788]
3. 3 [Option ID = 13789]
4. 4 [Option ID = 13790]

16) If the cost price is 25% of selling price, then what is the profit percentage?
(1) 100 (2) 200
(3) 300 (4) 400

A e, fasramea =1 25% & a1 e 6 wfawaa F4r 8 7

(1) 100 (2) 200
(3) 300 (4) 400

[Question ID = 3582][Question Description = Q21_GP_20N0OV_52_SHAAN_Shift2]
1. 1 [Option ID = 13791]
2. 2 [Option ID = 13792]
3, 3 [Option ID = 13793]
4. 4 [Option ID = 13794)

17) A seller mixes 26 kg rice of a price of Rs. 20/kg, with 30 kg of different variety rice of a price of Rs. 36/kg. He sells
both the mixed rices at Rs, 30/kg. What will be the profit in percentage?

(1) 5% (2) 10%

(3) 15% (4) 20%

ue feghar 26 et =rmaet €. 20/Fhent % ot W wilis = 3@H gm wR 1 30 Rl =aw fien 3 @ o
354 & 36/ % 5 W wltEr ar 9k 3@ v ffm gu wee =, 30/fee % @ W Swar 31 59 o
1 wifoeraar g9t TN 7

PR — . - sl
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(3)  15% (4) 20%

[Question ID = 3583][Question Description = Q22_GP_20NOV_52_SHAAN_Shift2]
1. 1 [Option ID = 13795]
2. 2 [Option ID = 13796]
3. 3 [Option ID = 13797]
4, 4 [Option ID = 13798)

18) A milk man purchases milk at Rs. X per litre and sells it at Rs. 2X per litre. Still he mixes 2 litres of water with every 6

litre of pure milk, What is his profit percentage?
(1) 33.33 (2) 66.66
(3) 133,33 (4) 166.66

uw gru-fsea ®. X/t % @ W 39 lg F 3. 22X/ F R W = 2| aEeg 796 987 2 Sied ant
SO 6 TX WG 39 A e Zan 2| ek e it i w7 27

(1) 33.33 (2) 66.66
(3) 133.33 (4) 166.66

[Question ID = 3584][Question Description = Q23_GP_20NOV_52_SHAAN_Shift2]
1. 1 [Option ID = 13799]
2. 2 [Option ID = 13800]
3. 3 [Option ID = 13801]
4. 4 [Option ID = 13802]

19) The average monthly income of P and Q is Rs. 5,050/-. The average montly income of Q and R is Rs. 6,250/~ and that
of P and R is Rs. 5,200, What will be the monthly income of P?

(1) Rs. 3,000/- (2) Rs. 3,500/-

(3) Rs. 4,000/- (4) Rs. 4,500/-

P sift Q i sifwm m@ifires 51 5050 w93 2, Q st R &t sfiwa i o1m 6250 %03 g P st R 6t

sitea Tifée 511 5200 393 21 P i arfes e fnoed 2 v

(1)  3.000/- %9 (2)  3.500/- %53

(3)  4.000/- 9% 4 4,500/- T3

[Question ID = 3585][Question Description = Q24_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13803]
2. 2 [Option ID = 13804]
3. 3 [Option ID = 13805]
4. 4 [Option ID = 13806]

20) The average of 4 terms is 20, and the first term is 1/3rd of sum of the remaining 3 terms. What will be the value of
first term?

(1) 15 (2) 20

(3) 25 (4) 30

4 Tl F oftEa 20 & 97 ISl HEa T 3 eI & A H 1/3 2| USell HeE 1 0 990 B

(1) 15 2 20
(3) 25 4 30

[Question ID = 3586][Question Description = Q25_GP_20N0V_S2_ SHAAN_Shift2]
1 [Option ID = 13807]
. 2 [Option ID = 13808]
. 3 [Option ID = 13809]
. 4 [Dption ID = 13810]

e B

21 According to Naiyayikas we ascertain the relation of universal concomitance between x

and v :

(A) We can determine the relation only if we can determine the relation of essential

S e i e T i i s ok
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LMULL'ULUJ AW A Y Wil l v LAAAYA J

(B) By perceiving that in all cases the presence of x is accompanied by the presence of ¥

(C) We can determine the relation only i1f we can determine the relation of cause and
effect between x and ¥

(D) By not perceiving any instance where the presence of x 1§ not accompanied by the
presence of ¥ or vice-versa

Choose the correct answer from the options given below :

(1) (A) and (C) only
(2) (D) and (C) only
(3)  (B)and (D) only
(4) (A). (B) and (C) only

Yomfrs ¥ SR 8 x oi y A A T = w gl B )

(A)  x HAR y & o= e s 3R Chrerhar 7 greed gRiTEd 29 9 8 BH TR B 9

o |
B) @i aiiaiaat § o i IufEta B Wy y Fi Suieata F SETE w0 T I w1
(C) =8 wm=ryg T adl gETaa B TFd & 99 79 x 3R y 5 S B -PRY Ty GHiTEd B
(D) x ¥Fi fEaa & g y H st = y F wm F oy x F sEeEd[ = 5 f e =
A9 T T |
il 18 e fameat 9 U wat S @ == i ;

(1)  ae (A) J (©)
(2)  aa (D) IR (C)
3 % (B) 3 (D)
(4)  Fad (A). (B) 311 (C)
[Question ID = 3587][Question Description = Q26_GP_20NOV_S2_SHAAN_Shift2]
1 [Option ID = 13811]
2 [Option ID = 13812

1.

2. ]
3. 3 [Option ID = 13813]
4. 4 [Option ID = 13814]

22) Mfatoh List T with List IT :

List I List I1
(A) Vyapt (I) The property being inferred
(B) Linga (II) Locus of hetu and Sadhya
(C) Sadhya (ITI) Sign or reason
(D) Paksa (IV) Universal concomitance

Choose the correct answer from the options given below :

1 A)-O. B)-dI). (O-1D,. (D)-AV)
@  @A-ah. B)-1D. (C)-D. (D)-AV)
3  @-AV). (B)-(LD). (CO)-D. AN-UAD
@  A-dAID. B)-@). (O-@V). M)-UD

Tei-1 % s gE-11 = faerm ifem
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g1 TEi-11
@ =fa D o A
B) fom (AD =g iR Qe w0 o™E
(C) @A (III) TeFaT STYET R
(D) u& (V) weitfirs wgmiia
i fau o fwedt A @ O 3T F e A

1 A-D. B)-AID. (C)-AI). (D)-AV)
@  (A-dD. B)-1D, (C)-(D). (D)-IV)
3)  (A)-aQV). B)-dID). (©)-D). @)-dD
4  (A-dIDh, B)-@),. (O)-0V), (D)-dD

[Question ID = 3588][Question Description = Q27_GP_20N0OV_52_SHAAN_Shift2]
1. 1 [Option ID = 13815]
2. 2 [Option ID = 13816]
3. 3 [Option ID = 13817]
4. 4 [Option ID = 13818]

23) Given below are two statements :

Statement I : According to Classical Indian Logic the fallacies (hetvabhasa) are not

errors of inference, but rather hindrances to inference.

Statement II: A fallacy i1s really a “seeming reason or mark” (hetvabhasa), which. if

recognized, would prevent the inferential cognition from arising.

In the light of the above statements, Choose the correct answer from the options given

below :

(1) Both Statement I and Statement II are true.
(2) Both Statement I and Statement II are false.
(3) Statement I 1s true but Statement II is false.

(4) Statement I 1s false but Statement II 1s true.

it gt om fgg e £

%47 () : AR T TohuITe oF SFEN e ATHE B 39 T8t fug sHeaae g)

w97 (II) . TEANTY Sgd: SN RO S Hohd & S PR AThw g 9e at A a5
=t Scafer =1 famor s 21

YU HA B aTer °, A= fBu 1v feedl 8 9wt sw = = Al

1) W (DR ) I T E
(2)  wyE (D) 3T (1) 3T & B
(3) =y (D) ucd B, o @A (ID) 39en 3

@) = () I\ 2, i B () 7T 3
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[Question ID = 3589][Question Description = Q28_GP_20N0V_S2_ SHAAN_Shift2]
. 1 [Option ID = 13819]
2 [Option ID = 13820]
. 3 [Option ID = 13821]
. 4 [Dption ID = 13822]

e it B

24) *“‘All radically egalitarian societies are societies that do not preserve individual liberties’’.

Which of the following statements is true with reference to the above statement?

(1) “*No radically egalitarian societies are societies that preserve individual liberties’’ is obverse of the given statement and
it is logically equivalent.

(2) “*No radically egalitarian societies are societies that preserve individual liberties’’ is obverse of the given statement and
it is not logically equivalent.

(3) “*Some radically egalitarian societies are societies that preserve individual liberties’’ is converse of the given statement
and it is logically equivalent.

(4) ‘*Some radically egalitarian societies are not societies that preserve individual liberties’’ is converse of the given
statement and it is logically equivalent.

“Terd: Al BHATEE A U oA € o dufen e o w18 W £ sreifefigg vl O e
1 T IULTH = geed H ugt 27

(1) =3 i 99a: FEQEE @A VW AN 96 ¢ S aAfesw TEaeadl S wiia war 21 T weA
<1 715 Ufdafaa 9= 2 it aifees =0 o aages 2)

(20 ik o qEa: GreEE U U T Te @ S Safed wEaear  oiEa e 2| e e e
1 78 Wieataa T B I IS ¥ U 7uded B

(8) T 4ud: WEAIEiel BUS UH ®AT § S dafes waa wiiE £ By e wua w9 viogs
199 2 S difdes ' @ 5 2|

(9  F© Yo AHdEE] THIS U G 6 8 S dafew e o el 5 8) R e e g
Tftrget I 2 1R @i B9 | Tged 2

[Question ID = 3590][Question Description = Q29_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13823]
2. 2 [Option ID = 13824]
3. 3 [Option ID = 13825]
4. 4 [Option ID = 13826]

25) Two propositions are contradictories if ;

(1) One is denial or negation of the other

(2) If they can both be true but cannot both be false

(3) If they have different subject and predicate term and differ from each other in both quality and quantity

(4) If they have the same subject and predicate terms but differ from each other only in quantity but not in quality

3t afagtast = 2 of2
(1) %, g e F 2 91 T 2
(2) IR, S Ged T TRl 3 Wi SF 3Ecg el gl wehdi|
(8) TR I 32va IR fadam ug fim 2, v uu ok AEn o s 2
(4) TR 37 23T I fagm wum § iR 2 e wEn | a T § weg o # i 3)
[Question ID = 3591][Question Description = Q30_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13827]
2. 2 [Option ID = 13828]
3. 3 [Option ID = 13829]
4. 4 [Option ID = 13830]
26) What is the binary equivalent of the decimal number 67.625?
(1) 1000010.110 (2) 1000011.110
(3) 1000010.101  (4) 1000011.101

agHed G 67.625 i fgenard wuges @1 27

(1) 1000010 . 110 (2) 1000011. 110
(3) 1000010. 101 (4) 1000011. 101

[Question ID = 3592][Question Description = Q31_GP_20NOV_52_SHAAN_Shift2]
1. 1
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[Option ID = 13832]
3.3

[Option ID = 13833]
4. 4

[Option ID = 13834]

27) Identify the correct order of the following different types of computer components ranked from fastest to slowest in
terms of access time.

(A) RAM

(B) Optical Drive

(C) CPU Cache

(D) S5D

Choose the correct answer from the options given below :

(1) (B), (D), (A), (C) (2) (C), (D), (A), (B)

(3) (A), (B), (C), (D) (4) (C), (A), (D), (B)

Uiy 215A <l ST W TEd B @O A o ged i, ek % 3 % 3w e sl 4§ wdt wa R vgeE

TR

A @

(B) ofifwsa grsd
(C) iy, F9
(D) wH.UEdEl,

F2 T o T ¥ © Wl SuC S 99 it

(1) B). D). &). ()
2 (0. D). . ®
(3) @A) B) (), D)
@ (0. A). D). 3

[Question ID = 3593][Question Description = Q32_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13835]
2. 2 [Option ID = 13836]
3. 3 [Option ID = 13837]
4. 4 [Option ID = 13838]

28) Given below are two statements :

Statement | : The abbreviation ‘MOOC’ stands for ‘Massive Open Online Courses’.

Statement Il : The abbreviation ‘SWAYAM’ stands for ‘Study Webs of Active-Learning for Young Academic Minds’,
In the light of the above statements, Choose the correct answer from the options given below :

(1) Both Statement | and Statement Il are true. (2) Both Statement | and Statement Il are false.

(3) Statement | is true but Statement Il is false. (4) Statement | is false but Statement Il is true.

et g o fog T g

%91 (I) : w3130 G, 1 Hde g - B sl slieesT widw

Fy (1D) : W, S T AR L, W aes & - 9 g AP UfFea-afi wR A ieefie
TS

YRR HYF % T 5, 1= AT T faeedl 8§ @ ud s W w9 it

1) = (1) 3R 10 3 o3 B
@) = (@) AR AL g I §
(3) = () ¥ B, A w9 (1) 318A 3

4 Fo (1) o\ 2, A we (1) 6 2
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[Question ID = 3594][Question Description = Q33_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13839)
2. 2 [Option ID = 13840]
3. 3 [Option ID = 13841]
4. 4 [Option ID = 13842]

29) Which of the following statements are related to the role of ICT in citizen services?

{A) Access to public documents

(B) On-line payments

(C) Better medical education across the country

Choose the correct answer from the options given below :
(1) (A), (B) and (C) (2) (A} and (C) only

(3) (B) and (C) only (4) (A) and (B) only

frefafiaa 5 8 F9-= ¥ ®@ T g 4 eng.di.d. i gt @ aeafe §?
(&) TR FEES 7 95
(B) AT YaE

(C) wr 3w ¥ st e fan

= fam o fwedl § O g I w1 T i

1) (A, (B) #R(C)
2) AT (A) IR (C)
(3) %W (B) 3 (C)

(4) I (A) 3 (B)

[Question ID = 3595][Question Description = Q34_GP_20N0V_S52_ SHAAN_Shift2]
1. 1 [Option ID = 13843]
2. 2 [Option ID = 13844]
3. 3 [Option ID = 13845]
4, 4 [Option ID = 13846]

30) Match List | with List Il :

List I List Il

(Computer Terms) (Description)

(AY HTML (l) Semantic Web

(B) Web 2.0 (ll) Use of Internet to make phone calls

(C) Web 3.0 (Ill) Language used to create web pages

(D) VOIP  (IV) Collaborative web

Choose the correct answer from the options given below :

(1) (A)-(ll1}, (B)-(1V), (C)-(1), (D)-(1)  (2) (A)-(lID), (B)-(1), (C)-(IV), (D)-(Il}
(3) (A)-(11), (B)-(IV), (C)-(1), (D)-(1)  (4) (A)-(IV), (B)}-(lIl}, (C)-(1), (D)-{IN)

g=fi-1 = wry g1 = firem fifn

-1 g-II

HvERg U2 oo
(4) v I TiRw a9
(B) @% 2.0 (ID i Fed FE & e wedz = gam
(C) 3% 3.0 (IID) <= 95 = a4 % foe s = 15 e
(D) .ot e . (IV) wIsErfes 39

= fam o f3wedl § O a3 w1 T i
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(1) (AJ-1111). {B)-(LV), (L)-{1), {L)-(11) Your Personal Exams Guide
2) @I, B)-@). (C)-AV), (D)-(ID
& A-aD. B)-av), (O-O, M)-d11D)
@  AQ-av). B-aib. (C)-O), D)D)

[Question ID = 3596][Question Description = Q35_GP_20NOV_52_SHAAN_Shift2]
. 1 [Option ID = 13847]
. 2 [Dption ID = 13848]
. 3 [Option ID = 13849]
4 [Option ID = 13850]

oWk b

31) Given below are two statements :

Statement | : Noise Pollution has an adverse impact on hearing ability as well as psychological well being of a person.
Statement Il : Human perception of noise levels is linear.

In the light of the above statements, Choose the correct answer from the options given below :

(1) Both Statement | and Statement Il are true. (2) Both Statement | and 5tatement Il are false.

(3) Statement | is true but Statement Il is false. (4) Statement | is false but Statement Il is true.

= 2 w9 Ru e 2 .

H (D) - ot g W vfage wwE =t i sEm-mite & wmy-my TeeE-Eees ) s
TS 21

w9 (D) : e STE, S-wa & g9y o g 2|

SUTih YA $ aTEn |, {9 e v feredl § o @t 59 =wq fifew

) = (1) 3 A0 2w §

@) e (J) R (D) ST 3Taed &

(3) = (D) uA 2, afea w9 (1) 9194 3

@ = (D) g 2, 9 e (D) e B

[Question ID = 3597][Question Description = Q36_GP_20NOV_52_SHAAN_Shift2]
1. 1 [Option ID = 13851]
2. 2 [Option ID = 13852]
3, 3 [Option ID = 13853]
4, 4 [Option ID = 13854]

32) Which country is in the process of setting up the largest integrated solar-wind energy park of 30 GW capacity?
(1) China (2) India
(3) Australia (4) Saudi Arabia

frforiga & 3 =5 @1 29 30 fm are 6 aw i fGva % g9y w3 gR-ag-Sei-sam i e i
ufsFar § wem 27

(1) =m (2) 9rd
(3)  wfem (4) wIdi-arm

[Question ID = 3598][Question Description = Q37_GP_20NOV_52_SHAAN_Shift2]
. 1 [Option ID = 13855]
. 2 [Dption ID = 13856]
. 3 [Option ID = 13857]
4 [Option ID = 13858]

oWk b2 o

33) Given below are two statements : One is labeled as Assertion A and the other is labeled as Reason R.
Assertion (A) : There has to be an integrated approach to achieve the targets of Sustainable Development Goals (SDGs).
Reason (R) : Many of the SDGs are interconnected.

In the light of the above statements, Choose the most appropriate answer from the options given below :
(1) Both (A) and (R) are correct and (R) is the correct explanation of (A).

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of {A).
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(3) (A) is correct but (R) i5 not correct.

{4) {A) is not correct but (R) is correct.

=t 3 o fom e 2 : oF e (Assertion A) ¥ W ¥ fafad ® @ 780 3@% IR0 (Reason R) %

.
0 H :

AR (A):  wuRetE fm @ (v i) i wft 29 o e s 2

O (R) : %3 .30, saTag 2
SURITh BT ok rers 1, A i T foepedi o @ wed S I o = hifa

1)
@)
(3)
4)

(A) iR (R) 2T =&t 2 o7k (R). (A) it @it =men B

(A) 3R (R) a1 T 2, afT R), (&) F wd = 7 2
(A) =&t 2, T (R) @8 T &

(A) ot 78 2, < R) |dt 2

[Question ID = 3599][Question Description = Q38_GP_20N0V_S52_ SHAAN_Shift2]

1.1

[Option ID = 13859]

2.2

[Option ID = 13860]

353

[Option ID = 13861]

4, 4

[Option ID = 13862]

34) Given below are two statements : One is labeled as Assertion A and the other is labeled as Reason R,

prepp

Your Personal Exams Guide

Assertion (A) : Mankind’s interaction with Earth has led to a highly complex and diverse ecosystem to an increasingly
degraded environment.
Reason (R} : Many of the changes taking place in Earth’s environment are irreversible.

In the light of the above statements, Choose the most appropriate answer from the options given below :

(1) Both (A) and (R} are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A).

(3) (A) is true but (R) is false.

(4) {(A) is false but (R) is true.

Hrt 31 = for 10 2 ;o sifiepee (Assertion A) # w9 # forftad ® At g0 3@% FW (Reason R) %

E‘Jﬁ

HATFAT (A) : TFE ST SRR % ST Swaid oTR fafeemgel wifestas-aa =i 3Tt ot s=m

TS A § UiET 1 5 2

FR0 (R): YTl % ATERY § 21 T 9% iadd SiEa- 2

ITF AT % AE 0, i 1S e rreat d @ A€ sat w1 == i

(1)
(2)
(3
(4)

(A) 3R (R) TH1 & 2 3R (R). (A) Hi &1 = 2

(A) 3i (R) 3 wea &, af (R). (A) @l sawem T 2
(A) T &, AT (R) 98 3WeT 2

(&) woca 7 2, @t (R) o 3

[Question ID = 3600][Question Description = Q39_GP_20N0V_S2_SHAAN_Shift2]
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[Option ID = 13863]
2. 2

[Option ID = 13864]
3.3

[Option ID = 13865]
4. 4

[Option ID = 13866]

35) What percentage of India’s land is vulnerable to earthquakes?
(1) - 57% (2) - 42%
(3) ~ 37% (4) ~ 28%

i Y et afaera qfi w e i e §

(1) ~5T% (2) ~42%

(3) ~ 37% 4 ~28%

[Question ID = 3601][Question Description = Q40_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13867]
2. 2 [Option ID = 13868]
3. 3 [Option ID = 13869]
4. 4 [Option ID = 13870]

36) Which of the following is most effectively promoted by Globalisation among the societies?

(1) Monocultural values (2) Multicultural values
(3) Regionalisation (4) Self centredness

frafafaa 9 = o1 909 298 w9 3 TEYE Y ¥ Sy 3 WAt e o W@ 8 e

(1) T AR oA (2) g WEHiIH G
(3) (4)  SATcH-Flzar

[Question ID = 3602][Question Description = Q41_GP_20N0V_S2_SHAAN_Shift2]
1. 1 [Option ID = 13871]
2. 2 [Option ID = 13872]
3. 3 [Option ID = 13873]
4, 4 [Option ID = 13874]

37) CBCS stands for
(1) Choice Based Central Schemes (2) Choice Based Credit System
(3) Central Board of Credit Schemes (4) Credit Board of Central Sponsors

i+t wm, = e E -

(1) =934 ¢S d=2a ThA (2) <Ay 9TE shiee ey

(3) BT WS A Hise T (&) B2 T AT Hgw wWiEE

[Question ID = 3603][Question Description = Q42_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13875)

2. 2 [Option ID = 13876

3. 3 [Option ID = 13877]

4. 4 [Option ID = 13878]

38) COVID-19 acronym stands for

(1) Corona Virus Disease 2019

(2) Corona VYirus Disease strain 19

(3) Corona Virus Disaster 2019

(4) Corona Virus Disease 2020

FHas—19 1 HaaS ¢ -

(1) =R ars@ S 817% 2019

(2) BRI 9" SIS A 19
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(8) =BT ATEE fEomeE #11% 2019

(4) =T amgga i 21 2020
[Question ID = 3604][Question Description = Q43_GP_20NOV_S2_SHAAN_Shift2]
1. 1

[Option ID = 13879]
Z. 2

[Option ID = 13880]
33

[Option ID = 13881]
4, 4

[Option ID = 13882]

39) NITI Aayog is
(1) Mational Institution for Transforming India (2) National Institute of Technology Integration
(3) National Institute of Technological Innovation (4) National Institute of Transformation and Innovation

Hifd (NITD) s1am =1 Aaas 2 -

() el IR IR g S
(2) AU SREITHE AT AN 3ETE
(3) A TS 3F HAISIR ST
(4) T TR AT TOEEIH & FEYH

[Question ID = 3605][Question Description = Q44_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13883]
2. 2 [Option ID = 13884]
3. 3 [Option ID = 13885]
4, 4 [Option ID = 13886]

40) Match List | with List Il ;

List I Listll

{Days Celebrated) (When)

(A) Earth Day (1) 24 January

(B) UNO Day (Il) 5th June

(C) Environment Day (lll} 24th October

(D) International Day of Education (IV} 22nd April

Choose the correct answer from the options given below :

(1) (A)-(1), (B)-(IN), (C)-(MN), (D)-(IV)  (2) (A)-(IV), (B}-(I}, (C}-(1), (D)-(IN)
(3) (A)-(I), (B)-(IV), (C)-(N), (D)-(NT)  (4) (A)~(IV), (B)-(II}, (C}-(II}, (D)-(D)

-1 % "y g1 = T fifm
-1 ghi-11
feere fooft
(A vEt-feam @ 24 5=l
(B) uTxw Uy ¥4 fdom aAh s
(C) wHTRu-Teay (I1I) 24 ITFZER
(D) sraigr faem am V) 22 21«
Fa fam o famedl § O OE 3T 1 9HT ST

1 A-O. (B)-I), (C)-AD. (D)-(IV)
@2 A@-IV), B)-IID), (C)-(), (D)-(IL)
(3)  (A-aDn, B)-IV), (0)-(1), (D)-AI)
@  A@-AV). B-aID. (O)-AD. D)-D
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[Question ID = 3606][Question Description = Q45_GP_20N0OV_52_SHAAN_Shift2]
1. 1 [Option ID = 13887]
2. 2 [Option ID = 13888]
3, 3 [Option ID = 13889]
4. 4 [Option ID = 13890]
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